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1. The pair of lines joining the origin to the points of intersection of the

curves 

 and 


 


will be at right angles to one another , if

Watch Video Solution

ax2 + 2hxy + by2 + 2gx = 0

a' x2 + 2h' xy + b' y2 + 2g' x = 0

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_iUrz7DA6Rm2A


2. Find the angle between the lines joining the origin to the points of

intersection of the straight line  with the curve 

.

Watch Video Solution

y = 3x + 2

x2 + 2xy + 3y2 + 4x + 8y = 11 = 0

3. Prove that the straight lines joining the origin to the points of

intersection of the straight line  and the curve 

 are at right angle if .

Watch Video Solution

hx + ky = 2hk

(x − k)2 + (y − h)2 = c2 h2 + k2 = c2

4. If pairs of straight lines and 

be such that each pair bisects the angle between the other pair ,then

Watch Video Solution

x2 − 2pxy − y2 = 0 x2 − 2qxy − y2 = 0

https://dl.doubtnut.com/l/_hrmy4Otdwztq
https://dl.doubtnut.com/l/_XrcfmAOoL2Up
https://dl.doubtnut.com/l/_ILZbwCZ5M5Vy


5. Find the value of a for which the lines represented by

 are mutually perpendicular.

Watch Video Solution

ax2 + 5xy + 2y2 = 0

6. Find the acute angle between the pair of lines represented by

.

Watch Video Solution

(x cosα − y sinα)2 = (x2 + y2)sin2 α

7. If the angle between the lines represented by

 is  , then m is equal to

Watch Video Solution

2x2 + 5xy + 3y2 + 7x + 13y − 3 = 0 tan− 1(m)

8. If the pair of straight lines  is rotated about the

origin through  , then find its equation in the new position.

ax2 + 2hxy + by2 = 0

90∘

https://dl.doubtnut.com/l/_FkCXm2cL8Nji
https://dl.doubtnut.com/l/_GabarML2HMhq
https://dl.doubtnut.com/l/_pBWAascm5P4Q
https://dl.doubtnut.com/l/_Ep3QVsefGHYQ


Watch Video Solution

9. The orthocenter of the triangle formed by the lines

 is

Watch Video Solution

xy = 0 and x + y = 1

10. The lines joining the origin to the point of intersection of

 are at right angles. Then

which of the following is a possible value of m?

Watch Video Solution

3x2 + mxy − 4x + 1 = 0 and 2x + y − 1 = 0

11. If the slope of one line is double the slope of another line and the

combined equation of the pair of lines is

, then find the ratio ab : .

Watch Video Solution

(x2 /a) + (2xy/h) + (y2 /b) = 0 h2

https://dl.doubtnut.com/l/_Ep3QVsefGHYQ
https://dl.doubtnut.com/l/_QiUmjpLB6R5m
https://dl.doubtnut.com/l/_LqvEu129Gn3w
https://dl.doubtnut.com/l/_o63Vz3HHGjRt


12. Find the combined equation of the pair of lines through the point (1,0)

and parallel to the lines respresented by .

Watch Video Solution

2x2 − xy − y2 = 0

13. The value k for which  is the equation of a pair of

straight lines is _________.

Watch Video Solution

4x2 + 8xy + ky2 = 9

14. The two lines represented by  are

perpendicular to each other for

Watch Video Solution

3ax2 + 5xy + (a2 − 2)y2 = 0

15. If two lines represented by 

bisector of the angle between the other two, then the value of 
is

x4 + x3y + cx2y2 − xy3 + y4 = 0

c

https://dl.doubtnut.com/l/_UnNBkZsvXldO
https://dl.doubtnut.com/l/_kvBIqPStg31r
https://dl.doubtnut.com/l/_cw9tybQC7tCI
https://dl.doubtnut.com/l/_DlHYylLWgnPW


Watch Video Solution

16. The straight lines represented by 

meet at (a)
 
(b) (c)
 
(d) none of these

Watch Video Solution

x2 + mxy − 2y2 + 3y − 1 = 0
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17. The straight lines represented by the equation


 are equally inclined to the line
 (a) 


(b) x+2y=7
(c) 
(d) 

Watch Video Solution

135x2 − 136xy + 33y2 = 0

x − 2y = 7 x − 2y = 4 3x + 2y = 4

18. If one of the lines of  is a bisector of

the angle between the lines , then m is

Watch Video Solution

my2 + (1 − m2)xy − mx2 = 0

xy = 0

https://dl.doubtnut.com/l/_DlHYylLWgnPW
https://dl.doubtnut.com/l/_R1R5QWRYNctE
https://dl.doubtnut.com/l/_Ygxg0mLQWILB
https://dl.doubtnut.com/l/_hhbf5Jr6EiI2
https://dl.doubtnut.com/l/_XZGuI22dAwvd


19. Statement
 1 : If 
 then one line of the pair of lines 


bisects the angle between the coordinate axes in

the positive quadrant.
Statement
 2 : If 
 is a factor of 


then 
.

Watch Video Solution

−2h = a + b,

ax2 + 2hxy + by2 = 0

ax + y(2h + a) = 0

ax2 + 2hxy + by2 = 0, b + 2h + a = 0

20. Show that all chords of the curve , which

subtend a right angle at the origin , pass through a fixed point. Find the

coordinates of the point .

Watch Video Solution

3x2 − y2 − 2x + 4y = 0

21. Area of the triangle formed by the lines

 is ________.

Watch Video Solution

y2 − 9xy + 18x2 = 0 and y = 6

https://dl.doubtnut.com/l/_XZGuI22dAwvd
https://dl.doubtnut.com/l/_3wzJa2YW2HDX
https://dl.doubtnut.com/l/_rQ0Mx6m5btRI


22. The distance between the lines 

is ____________.

Watch Video Solution

(x + 7y)2 + 4√7(x + 7y) − 42 = 0

23. , are three real

distinct lines forming a triangle is

Watch Video Solution

x + y = 7 and ax2 + 2hxy + ay2 = 0, (a ≠ 0)

24. If the slope of one of the lines represented by 

is the square of the other , then 

Watch Video Solution

ax2 + 2hxy + by2 = 0

+ =
a + b

h

8h2

ab

25. Area of the triangle formed by the line  and the angle

bisectors of the pairs of straight lines 
 is
 (a)  sq units

x + y = 3

x2 − y2 + 2y = 1 2

https://dl.doubtnut.com/l/_AszXdA8zDZHP
https://dl.doubtnut.com/l/_fuZPtqNC1Cg0
https://dl.doubtnut.com/l/_xIpj9TcJZwKF
https://dl.doubtnut.com/l/_clvOA3llYsNC


(b)  sq units
(c)  sq units
(d)  sq units

Watch Video Solution

4 6 8

26. The sides of a triangle have the combined equation


 . The third side, which is variable, always

passes through the point 
 . Find the range of values of the

slope of the third line such that the
 origin is an interior point of the

triangle.

Watch Video Solution

x2 − 3y2 − 2xy + 8y − 4 = 0

( − 5, − 1)

27. Let PQR be a right - angled isosceles triangle , right angled at P(2,1). If

the equation of the line QR is , then the equation

representing the pair of lines PQ and PR is

Watch Video Solution

2x + y = 3

https://dl.doubtnut.com/l/_clvOA3llYsNC
https://dl.doubtnut.com/l/_iGRPh4w78Fsn
https://dl.doubtnut.com/l/_HwN3GZrLNroY


28. The combined equation of three sides of a triangle is

 if (-2,a) is an interior point and (b,1) is an

exterior point of the triangle, then

Watch Video Solution

(x2 − y2)(2x + 3y − 6) = 0

29. Find the equation of the bisectors of the angles between the lines

joining the origin to the point of intersection of the straight line


with the curve 

Watch Video Solution

x − y = 2 5x2 + 11xy + 8y2 + 8x − 4y + 12 = 0

30. If  is the angle between the lines givne by the equation

, then find the equation of the line

passing through the point of intersection of these lines and making an

angles  with the positive x-axis.

Watch Video Solution

θ

6x2 + 5xy − 4y2 + 7x + 13y − 3 = 0

θ

https://dl.doubtnut.com/l/_uwlshg7xumuf
https://dl.doubtnut.com/l/_s8NZM6AmVm1K
https://dl.doubtnut.com/l/_lJWtkuh56OdY


31. The dis tance of a point  from each of the two straight lines

which pass through the origin of coordinates is p. Find the combined

equation of these straigh lines .

Watch Video Solution

(x1, y1)

32. prove that the product of the perpendiculars drawn from the point

 to the pair of straight lines  is 

Watch Video Solution

(x1, y1) ax2 + 2hxy + by2 = 0

∣
∣
∣
∣
∣

∣
∣

∣

∣
∣

ax2
1 + 2hx1y1 + by2

1

√(a − b)2 + 4h2

33. Find the area enclosed by the graph of .

Watch Video Solution

x2y2 − 9x2 − 25y2 + 225 = 0

https://dl.doubtnut.com/l/_G2w1agvJagvJ
https://dl.doubtnut.com/l/_SV14YI4EzQaZ
https://dl.doubtnut.com/l/_5AmQQfL6iTXP


34. Show that the pairs of straight lines

 have the same set of

angular bisector.

Watch Video Solution

2x2 + 6xy + y2 = 0 and 4x2 _ 18xy + y2 = 0

35. Show that the equation of the pair of lines bisecting the angles

between the pair of bisectors of the angles between the pair of lines

 is 

Watch Video Solution

ax2 + 2hxy + by2 = 0 (a − b)(x2 − y2) + 4hxy = 0

36. Find the angle between the straight lines joining the origin to the

points of intersection of

.

Watch Video Solution

3x2 + 5xy − 3y2 + 2x + 3y = 0 and 3x − 2y = 1

https://dl.doubtnut.com/l/_shVPXJfA2gmb
https://dl.doubtnut.com/l/_kRNQDugvcJ8r
https://dl.doubtnut.com/l/_UsCQLh8JP0va
https://dl.doubtnut.com/l/_cdbWuUkvBjvg


37. Through a point 
on the x-axis, a straight line is drawn parallel to the

y-axis so as to
meet the pair of straight lines 
at 

and 
 If 
then
(a) 
 (b) 
 (c) 
 (d) 

Watch Video Solution

A

ax2 + 2hxy + by2 = 0 B

C. AB = BC, h2 = 4ab 8h2 = 9ab 9h2 = 8ab

4h2 = ab

38. Find the equation of two straigh lines whose combined equation is

.

Watch Video Solution

6x2 + 5xy − 4y2 + 7x + 13y − 3 = 0

39. Does equation  satisfies the condition

? Does it represent a pair of straight

lines ?

Watch Video Solution

x2 + 2y2 − 2√3x − 4y + 5 = 0

abc + 2gh − af 2 − bg2 − ch2 = 0

https://dl.doubtnut.com/l/_cdbWuUkvBjvg
https://dl.doubtnut.com/l/_Mh31AtmLxfFy
https://dl.doubtnut.com/l/_8cHL1BbEmau3


40. Find the value of 

represent a pair of straight lines.

Watch Video Solution

λ if 2x2 + 7xy + 3y2 + 8x + 14y + λ = 0

41. Find the distance between the pair of parallel lines 

.

Watch Video Solution

x2 + 4xy + 4y2 + 3x + 6y − 4 = 0

42. If the pair of lines  intersect

on the y-axis , then prove that .

Watch Video Solution

ax2 + 2hxy + by2 + 2gx + 2fy + c = 0

2fgh = bg2 + ch2

43. Find the equation of two straigh lines whose combined equation is

.6x2 + 5xy − 4y2 + 7x + 13y − 3 = 0

https://dl.doubtnut.com/l/_9bgnMfFvYO2T
https://dl.doubtnut.com/l/_HtHXXXkLH8vK
https://dl.doubtnut.com/l/_2n1FtX1I9cZ7
https://dl.doubtnut.com/l/_sytEJjdFCSZN


Watch Video Solution

44. If the component lines whose combined equation is

 make the angles  with x-axis , then find the

value of tan .

Watch Video Solution

px2 − qxy − y2 = 0 α and β

(α + β)

45. Find the joint equation of pair of lines which passes through origin

and are perpendicular to the lines represented by the equation

.

Watch Video Solution

y2 + 3xy − 6x + 5y − 14 = 0

46. If the sum of the slopes of the lines given by  is

four times their product , then find the value of c.

Watch Video Solution

x2 − 2cxy − 7y2 = 0

https://dl.doubtnut.com/l/_sytEJjdFCSZN
https://dl.doubtnut.com/l/_DFKlIMO0EICy
https://dl.doubtnut.com/l/_WcZJGz94ZZfz
https://dl.doubtnut.com/l/_ZuICKttWMr8v


47. The distance between the two lines represented by the equation 9x^2-

24xy+16y^2-12x+16y-12 =0

Watch Video Solution

48. The gradient of one of the lines  is twice that

of the other, then

Watch Video Solution

ax2 + 2hxy + by2 = 0

49. If one of the lines of  is a bisector of

the angle between the lines , then m is

Watch Video Solution

my2 + (1 − m2)xy − mx2 = 0

xy = 0

50. Two pairs of straight lines have the equations 

and 
 . One line will be common among them if.


y2 + xy − 12x2 = 0

ax2 + 2hxy + by2 = 0

https://dl.doubtnut.com/l/_nmmDQyKK0YWV
https://dl.doubtnut.com/l/_pG9NTlbFXwPm
https://dl.doubtnut.com/l/_5IdmcyNt4IqP
https://dl.doubtnut.com/l/_CP8ngNlGhVqT



 (b) 
 
 (d) 

Watch Video Solution

a + 8h − 16b = 0 a − 8h + 16b = 0 a − 6h + 9b = 0

a + 6h + 9b = 0

51. If the equation of the pair of straight lines passing through the point


, one making an angle 
with the positive direction of the x-axis and

the other making the same
angle with the positive direction of the y-axis,

is 
 then the value of 


is

Watch Video Solution

(1, 1) θ

x2 − (a + 2)xy + y2 + a(x + y − 1) = 0, a ≠ 2,

sin 2θ

52. If one of the lines given by the equation 

coincide with one of those given by  and the other

lines represented by them are perpendicular , then value of is

Watch Video Solution

2x2 + pxy + 3y2 = 0

2x2 + qxy − 3y2 = 0

p + q

https://dl.doubtnut.com/l/_CP8ngNlGhVqT
https://dl.doubtnut.com/l/_yY7Z4Eg1iYYl
https://dl.doubtnut.com/l/_6rmJFZTxrGTu
https://dl.doubtnut.com/l/_HXDF0JGZpZNf


53. If 
 represents the equation of the straight lines

through the origin which
 make an angle 
 with the straight line

 then,
 (a) 
 (b) 
 
 (c) 


(d) 


Watch Video Solution

x2 + 2hxy + y2 = 0

α

y + x = 0 sec2α = h cosα = √
(1 + h)

(2h)
2 sinα

= √
(1 + h)

h
cot α = √

(1 + h)

(h − 1)

54. The equation to a pair of opposite sides of a parallelogram are


 and 
 . The equations to its diagonals

are
 
 (b) 


(d)


Watch Video Solution

x2 − 5x + 6 = 0 y2 − 6y + 5 = 0

x + 4y = 13, y = 4x − 7 4x + y = 13, 4y = x − 7

4x + y = 13, y = 4x − 7 y − 4x = 13, y + 4x − 7

55. The equation 
 and 


represent

Watch Video Solution

a2x2 + 2h(a + b)xy + b2y2 = 0

ax2 + 2hxy + by2 = 0

https://dl.doubtnut.com/l/_HXDF0JGZpZNf
https://dl.doubtnut.com/l/_CodGp2c9DsM5
https://dl.doubtnut.com/l/_X9tIu8pmR56U


56. The equation 
 represents
 (a)three real straight

lines
 (b)lines in which two of them are perpendicular to each other

(c)lines in which two of them are coincident
(d)none of these

Watch Video Solution

x3 + x2y − xy2 = y3

57. The image of the pair of lines represented by 

by the line mirror 
 is
 a. 
 b. 


 c. 
 d. 

Watch Video Solution

ax2 + 2hxy + by2 = 0

y = 0 ax2 − 2hxy − by2 = 0

bx2 − 2hxy + ay2 = 0 x2 + 2hxy + ay2 = 0

ax2 − 2hxy + by2 = 0

58. The combined equation of the lines 
 is 

and that of the lines 
 is 
 . If the angle

between 
and 
is 
then the angle between 
will be

Watch Video Solution

l1andl2 2x2 + 6xy + y2 = 0

m1andm2 4x2 + 18xy + y2 = 0

l1 m2 α l2andm1

https://dl.doubtnut.com/l/_X9tIu8pmR56U
https://dl.doubtnut.com/l/_7GO0NeoEH8dQ
https://dl.doubtnut.com/l/_lvkzOJRmdyNf
https://dl.doubtnut.com/l/_DaREvYwLkMWj


59. If the equation 
represents a pair

of lines whose slopes are 
and 
then the value(s) of 
is/are

Watch Video Solution

ax2 − 6xy + y2 + bx + cy + d = 0

m m2, a

60. The equations of a line which is parallel to the line common to the

pair of lines given by 

and the sum of whose intercepts on the axes is 7, is :

Watch Video Solution

6x2 − xy − 12y2 = 0 and 15x2 + 14xy − 8y2 = 0

61. If the sum of the slopes of the lines given by  is

four times their product , then find the value of c.

Watch Video Solution

x2 − 2cxy − 7y2 = 0

https://dl.doubtnut.com/l/_DaREvYwLkMWj
https://dl.doubtnut.com/l/_JXaDYUYljlse
https://dl.doubtnut.com/l/_ZGv30UFQI3LX
https://dl.doubtnut.com/l/_m3cGFaqpqKGS


62. Area of the triangle formed by the line  and the angle

bisectors of the pairs of straight lines 
 is
 (a)  sq units

(b)  sq units
(c)  sq units
(d)  sq units

Watch Video Solution

x + y = 3

x2 − y2 + 2y = 1 2

4 6 8

63. The equation 
 represents (a) a pair of

straight lines and a circle
 (b) a pair of straight lines and a parabola
 (c) a

set of four straight lines forming a square
(d) none of these

Watch Video Solution

x2y2 − 9y2 − 6x2y + 54y = 0

64. The straight lines represented by

form a

Watch Video Solution

(y − mx)2 = a2(1 + m2) and (y − nx)2 = a2(1 + n2)

https://dl.doubtnut.com/l/_gebAkO3zxIwW
https://dl.doubtnut.com/l/_Ndr6E8N2nI0A
https://dl.doubtnut.com/l/_RenGBrZvy25K


65. If the pairs of lines 

have exactly one line in common then the joint equation of the other two

lines is given by

Watch Video Solution

x2 + 2xy + ay2 = 0 and ax2 + 2xy + y2 = 0

66. The condition that one of the straight lines given by the equation


 may coincide with one of those given by the

equation 
is


Watch Video Solution

ax2 + 2hxy + by2 = 0

a ′x2 + 2h ′xy + b ′y2 = 0

(ab ′ − a ′ b)
2

= 4(ha ′ − h ′a)(bh ′ − b ′h)

(ab ′ − a ′ b)
2

= (ha ′ − h ′a)(bh ′ − b ′h)

(ha ′ − h ′a)
2

= 4(ab ′ − a ′ b)(bh ′ − b ′h)

(bh ′ − b ′h)
2

= 4(ab ′ − a ′ b)(ha ′ − h ′a)

67. If the lines represented by the equation 

are rotated about the point 
 through an angle of 
 , one in

3y2 − x2 + 2√3x − 3 = 0

(√3, 0) 150

https://dl.doubtnut.com/l/_Fsy66pumr2gE
https://dl.doubtnut.com/l/_yRtXCr79mBuF
https://dl.doubtnut.com/l/_Hyg3h7ir4gse


clockwise direction and the other in anticlockwise direction,
 so that they

become perpendicular, then the equation of the pair of lines in
 the new

position is

Watch Video Solution

68. A point moves so that the distance between the foot of

perpendiculars from it on the lines  is a constant

2d . Show that the equation to locus is

.

Watch Video Solution

ax2 + 2hxy + by2 = 0

(x2 + y2)(h2 − ab) = d2{(a − b)2 + 4h2}

69. The angle between the pair of lines whose equation is

is

Watch Video Solution

4x2 + 10xy + my2 + 5x + 10y = 0

https://dl.doubtnut.com/l/_Hyg3h7ir4gse
https://dl.doubtnut.com/l/_f5hH8QDC6cOb
https://dl.doubtnut.com/l/_z1gPWOaECt8r


70. Find the point of intersection of the pair of straight lines represented

by the equation .

Watch Video Solution

6x2 + 5xy − 21y2 + 13x + 38y − 5 = 0

71. Find the angle between the lines represented by

.

Watch Video Solution

x2 + 2xy secθ + y2 = 0

72. If the pair of lines  is rotated about the

origin by  in the anticlockwise sense , then find the equation of the

pair of lines in the new position.

Watch Video Solution

√3x2 − 4xy + √3y2 = 0

π/6

https://dl.doubtnut.com/l/_ToJW2SaA9V8G
https://dl.doubtnut.com/l/_G81yypGP3Har
https://dl.doubtnut.com/l/_WIVJiDiZJXpA


73. If the equation  represents a pair of real and

distinct lines , then find the values of k.

Watch Video Solution

2x2 + kxy + 2y2 = 0

74. If the equation 
 represents

two parallel straight lines, then prove that .

Watch Video Solution

x2 + (λ + μ)xy + λuy2 + x + μy = 0

λ = μ

75. If one of the lines of the pair 
bisects the angle

between the positive direction of the axes. Then find the
relation for 

and .

Watch Video Solution

ax2 + 2hxy + by2 = 0

a, b

h

https://dl.doubtnut.com/l/_DlrCOmk6kzNj
https://dl.doubtnut.com/l/_WqxafvSi79PX
https://dl.doubtnut.com/l/_vaPO7h4sPcjh


76. Prove that the equation 

respresents a pair of straight lines .Find the coordinates of their point of

intersection and also the angle between them.

Watch Video Solution

2x2 + 5xy + 3y2 + 6x + 7y + 4 = 0

77. A line 
 passing through the point (2, 1) intersects the curve


at the point 
 . If the lines joining the

origin and the points 
 are such that the coordinate axes are the

bisectors between them, then
find the equation of line 

Watch Video Solution

L

4x2 + y2 − x + 4y − 2 = 0 AandB

A, B

L.

78. Show that straight lines


 form with the line 


an equilateral triangle of area 
.

Watch Video Solution

(A2 − 3B2)x2 + 8ABxy + (B2 − 3A2)y2 = 0

Ax + By + C = 0
C 2

√3(A2 + B2)

https://dl.doubtnut.com/l/_Lp9nLLCRSvr9
https://dl.doubtnut.com/l/_s5EVJeemIkfU
https://dl.doubtnut.com/l/_Gbx5VDIOQcRM


79. If one of the lines denoted by the line pair 

bisects the angle between the coordinate axes, then prove that

Watch Video Solution

ax2 + 2hxy + by2 = 0

(a + b)
2

= 4h2

80. If the middle points of the sides BC, CA, and AB of triangle ABC are

(1,3), (5,7), and (-5,7), respectively, the find the equation of the side AB.

Watch Video Solution

81. Find the equations of the lines which pass through the origin and are

inclined at an angle 
to the line 

Watch Video Solution

tan− 1 m y = mx + c.

https://dl.doubtnut.com/l/_Gbx5VDIOQcRM
https://dl.doubtnut.com/l/_Ud6rbJiYp6Hk
https://dl.doubtnut.com/l/_lOBxIb54EYCZ
https://dl.doubtnut.com/l/_6EFL7Tz895l7


82. If (-2,6) is the image of the point (4,2) with respect to line L=0, then

find the equation of line L.

Watch Video Solution

83. If the lines 
 and 
 are

perpendicular, then find the value of 

Watch Video Solution

x + (a − 1)y + 1 = 0 2x + a2y − 1 = 0

a.

84. Find the eqution of the right bisector of the line segment joining the

points (3,4) and (-1,2).

Watch Video Solution

85. Find the slope of the line perpendicular to the line joining the points

 and .(2, − 3) (1, 4)

https://dl.doubtnut.com/l/_1HSChvh5jUbg
https://dl.doubtnut.com/l/_UNvvpsmQc3n5
https://dl.doubtnut.com/l/_yHdN8MapHXTT
https://dl.doubtnut.com/l/_fB5PVuhX05Ky


Watch Video Solution

86. If the coordinates of the vertices of triangle ABC are (-1,6), (-3,-9), and

(5,-8), respectively, then find the equation of the median through C.

Watch Video Solution

87. Find the eqution of the line perpendicular to the line  and

passing through a point at which it cuts the x-axis.

Watch Video Solution

− = 1
x

b

y

b

88. Find the area bounded by the curves x+2|y|=1 and x=0.

Watch Video Solution

https://dl.doubtnut.com/l/_fB5PVuhX05Ky
https://dl.doubtnut.com/l/_Wowmc2dzxR9K
https://dl.doubtnut.com/l/_PtrvMLlu7hTR
https://dl.doubtnut.com/l/_xxLpzyNKO7xS


89. Find the equaiton of the straight line passing through the

intersection of the lines x-2y=1 and x+3y=2 and parallel to 3x+4y=0.

Watch Video Solution

90. Find the value of , if the lines 3x-4y-13=0, 8x-11y-33, and

Watch Video Solution

λ

2x − 3y + λ = 0are concurrent.

91. If the point 
lies completely inside the triangle formed by the

lines 
 and 
 then find the exhaustive range of

values of  is (A)  (B)  (C)  (D) 

Watch Video Solution

P(a, a2)

x = 0, y = 0, x + y = 2,

a (0, 1) (1, √2) (√2 − 1, 1) (√2 − 1, 2)

https://dl.doubtnut.com/l/_HGtyeNsNpIjS
https://dl.doubtnut.com/l/_rvZub0FpTALb
https://dl.doubtnut.com/l/_eBmdTt4PNysp


92. If the point (a,a) is placed in between the lines |x+y| = 4, then find the

value of a.

Watch Video Solution

93. Find the set of positive values of 
 for which the origin and the point

(1, 1) lie on the same side of the
 straight line,

,b>0

Watch Video Solution

b

a2x + aby + 1 = 0, ∀a ∈ R.

94. If the point  lies in the region of acute angle between the

lines 2y=x and 4y = x, then find the values of a.

Watch Video Solution

P(a2, a)

https://dl.doubtnut.com/l/_67W2mMwgpr4O
https://dl.doubtnut.com/l/_IGSvWcYZIRs3
https://dl.doubtnut.com/l/_IwKAxSinzLmS


95. Find the range of values of the ordinate of a point moving on the line


, which always remain in the interior of the triangle formed by the

lines 
the x-axis and 

Watch Video Solution

x = 1

y = x, x + y = 4.

96. The point 
 with respect to the lines 
 and 


lies on

Watch Video Solution

(8, − 9) 2x + 3y − 4 = 0

6x + 9y + 8 = 0

97. If point  lies in the angle between the line 3x-y+1=0 and

x+2y-5=0 containing the origin, then find the values of a.

Watch Video Solution

(a2, a + 1)

https://dl.doubtnut.com/l/_3g6P5gKbUrYp
https://dl.doubtnut.com/l/_lgEuxvl6VR2F
https://dl.doubtnut.com/l/_WjWse07oRvKc


98. Find the range of alpha if 
 and 
 lie on the

opposite sides of the line 

Watch Video Solution

(α, 2 + α) ( , a2)
3α

2

2x + 3y = 6.

99. How the following pairs of points are placed w.r.t the line 3x-8y-7=0? 

Watch Video Solution

(i)( − 3, − 4) and (1, 2)        (ii)( − 1, − 1) and (3, 7)

100. If the line  moves in such a way that ,

where c is a constant, then prove that the foot of perpendicular from the

origin upon the straight line describes the curve 

Watch Video Solution

+ = 1
x

b

y

b
+ =

1

a2

1

b2

1

c2

x2 + y(2) = c2.

https://dl.doubtnut.com/l/_753lnZZKL3kI
https://dl.doubtnut.com/l/_7PKyYh09Gvpj
https://dl.doubtnut.com/l/_yCHf80GaLUVP


101. Consider the lines given by
 



Column
I|Column II
 
 are
 concurrent if|p. 


 One of 
 is parallel to at least one of the other two

if|q. 
 
 form a triangle if|r. 
 
 do not

form a
triangle if|s. 

Watch Video Solution

L1 : x + 3y − 5 = 0 L2 : 3x − ky − 1 = 0

L3 : 5x + 2y − 12 = 0 L1, L2, L3

k = − 9 L1, L2, L3

k = −
6

5
L1, L2, L3 k =

5

6
L1, L2, L3

k = 5

102. A variable line through the point of intersection of the lines

 and  , meets the co-ordinate axes in A and B,

then the locus of mid point of AB is

Watch Video Solution

+ = 1
x

a

y

b
+ = 1

x

b

y

a

103. The line 3x+2y=24 meets the y-axis at A and the x-axis at B. The

perpendicular bisector of AB meets the line through (0, -1) parallel to the

x-axis at C. The area of triangle ABC is_______.

Watch Video Solution

https://dl.doubtnut.com/l/_kDyt608VEIND
https://dl.doubtnut.com/l/_14I7aKCqnzKC
https://dl.doubtnut.com/l/_0XQSAQJOvzrY


Watch Video Solution

104. Find the equation of the line passing through the point (2,2) and

cutting off intercepts on the axes whose sum is 9.

Watch Video Solution

105. The area of the parallelogram formed by the lines


equals.
 


(a) 
(b) 
 
(d) 

Watch Video Solution

y = mx, y = xm + 1, y = nx, andy = nx + 1

|m + n|

(m − n)2

2

|m + n|

1

(|m + n|)

1

(|m − n|)

106. A ray of light is sent along the line 
 After refracting

across the line 
it enters the opposite side after torning by 

away from the line 
. Find the equation of the line along which

the refracted ray travels.

Watch Video Solution

2x − 3y = 5.

x + y = 1 150

x + y = 1

https://dl.doubtnut.com/l/_0XQSAQJOvzrY
https://dl.doubtnut.com/l/_iZujyFpfWT9w
https://dl.doubtnut.com/l/_seBoFpz0CROL
https://dl.doubtnut.com/l/_HxFNEsk2AUGM


107. Let

 


Then the equation of the bisector of  is

Watch Video Solution

P ≡ ( − 1, 0), Q ≡ (0, 0), and R ≡ (3, 3√3)  be three points.

∠PQR

108. A ray of light is rent along the line x-2y-3 = 0. Upon reaching the line

3x-2y-5=0, the ray is reflected from it. 

Find the equation of the containing the reflected ray.

Watch Video Solution

109. Line 
has intercepts 
on the coordinate axes. When the axes

are rotated through a given angle
keeping the origin fixed, the same line


 has intercepts .
 Then
 (a) 
 (b) 


(c) 
(d) 

Watch Video Solution

L a and b

L p and q a2 + b2 = p2 + q2

+ = +
1

a2

1

b2

1

p2

1

q2
a2 + p2 = b2 + q2 + = +

1

a2

1

p2

1

b2

1

q2

https://dl.doubtnut.com/l/_HxFNEsk2AUGM
https://dl.doubtnut.com/l/_RXbyIpss0jdr
https://dl.doubtnut.com/l/_kItYXDPDEYXz
https://dl.doubtnut.com/l/_FVvQIzc0DojL


Watch Video Solution

110. If the sum of the distances of a point from two perpendicular lines in

a plane is 1, then its locus is

Watch Video Solution

111. A line 4x + y = 1 through the point A(2,-7) meets the line BC whose

equation is 3x-4y +1 =0 at the point B. Find the equation of the line AC, so

that AB=AC,

Watch Video Solution

112. A straight canal is 
from a place and the shortest route from

this place to the canal is exactly
north-east. A village is 
north and

four miles east from the place. Does it lie by the nearest edge of
 the

canal?

Watch Video Solution

4 miles
1

2

3miles

https://dl.doubtnut.com/l/_FVvQIzc0DojL
https://dl.doubtnut.com/l/_sy9ahj4M2TmJ
https://dl.doubtnut.com/l/_DJjVeveMLCeC
https://dl.doubtnut.com/l/_rHDLsbsV7Pyu


113. Let PS be the median of the triangle with vertices


 . The equation of the line
 passing

through 
 and parallel
 to PS is
 (1) 
 (2) 


(3) 
(4) 

Watch Video Solution

P (2, 2), Q(6, − 1) and R(7, 3)

(1, − 1) 4x − 7y − 11 = 0

2x + 9y + 7 = 0 4x + 7y + 3 = 0 2x − 9y − 11 = 0

114. Find the equation of the line which satisfy the
 given conditions :

Perpendicular distance from the origin is 5 units and the angle
made by

the perpendicular with the positive xaxis is 
.

Watch Video Solution

30∘

115. The number of integral values of m for which the x-coordinate of the

point of intersection of the lines 3x+4y=9 and y=mx+1 is also an integer is

Watch Video Solution

https://dl.doubtnut.com/l/_rHDLsbsV7Pyu
https://dl.doubtnut.com/l/_r2yHMTAZouKX
https://dl.doubtnut.com/l/_3XlnyHJUEOFw
https://dl.doubtnut.com/l/_xQ1kKnUj16SZ


116. Reduce the line 2x-3y + 5 =0, in slope-intercept, intercept and normal

forms. Also, find the distance of the line from origin and inclination of

normal of the line with x-axis.

Watch Video Solution

117. Prove that, The line 5x + 4y = 0 passes through the point of

intersection of straight lines x+2y-10 = 0, 2x + y =-5

Watch Video Solution

118. Passing through the point (– 4, 3) with slope 1/2 then the equation of

the line is?

Watch Video Solution

https://dl.doubtnut.com/l/_WrL4onrjllWv
https://dl.doubtnut.com/l/_HCRUEQg1Gts7
https://dl.doubtnut.com/l/_PUlG9Iqo5u6G


119. The lines 
 and 
 , cut the

coordinate axes at concyclic points.

Watch Video Solution

2x + 3y + 19 = 0 9x + 6y − 17 = 0

120. The straight lines  and 

form a triangle which is :
 a) isosceles b) right-angled c) equilateral d)

scalene

Watch Video Solution

3x + y − 4 = 0, x + 3y − 4 = 0 x + y = 0

121. A Line through the variable point  meets the lines 

x-5y+8=0` at B,C,D respectively.

Prove that AC;AB and AD are in HP.

Watch Video Solution

A(1 + k, 2k)

7x + y − 16 = 0; 5x − y − 8 = 0 and

https://dl.doubtnut.com/l/_ggMZkCiA3IF6
https://dl.doubtnut.com/l/_sHwIWT6VYayV
https://dl.doubtnut.com/l/_cVIUUgaZr992


122. Two particles start from the point (2,-1), one moves 2 units along the

line x+y = 1 and the other moves 5 units along the line x-2y = 4. If the

particles move upward w.r.t coordinates axes, then find their new

positions.

Watch Video Solution

123. If  are three given points, then

the locus of the point S satisfying the condition  is

Watch Video Solution

P ≡ (1, 0), Q ≡ ( − 1, 0), R ≡ (2, 0)

SQ2 + SR2 = 2SP 2

124. Distance of point  from the line  along 

Watch Video Solution

(1, 3) 2x − 3y + 9 = 0

x − y + 1 = 0

https://dl.doubtnut.com/l/_TGGJ4sZbzt20
https://dl.doubtnut.com/l/_di9MVJbCEInf
https://dl.doubtnut.com/l/_9aqv9YO1KNR3


125. A rectangle 
 has its side 
 parallel to line 
 and

vertices 
lie on 
and 
respectively. The

locus of vertex 
is
 
(b) 
 
(d) 

Watch Video Solution

ABCD AB y = x,

A, BandD y = 1, x = 2, x = − 2,

C x = 5 x − y = 5 y = 5 x + y = 5

126. Two adjacent vertices of a square are (1,2) and (-2,6). Find the other

vertices.

Watch Video Solution

127. The equation of a line through the point (1, 2) whose distance from

the
 point 
 has the greatest value is
 (a)  (b) 
 (c)


(d) 

Watch Video Solution

(3, 1) y = 2x y = x + 1

x + 2y = 5 y = 3x − 1

https://dl.doubtnut.com/l/_TywEsHja8kqC
https://dl.doubtnut.com/l/_IJgrHTGEv5Jk
https://dl.doubtnut.com/l/_b24C9Uauibrx


128. Find the equation of the line through the point A(2,3) and making an

angle of 45∘
with the x axis Also determine the length of intercept on it

between A and the line x+y+1=0

Watch Video Solution

129. The line  meets the x-axis at A, the y-axis at B, and the

line y=x at C such that the area of  is twice the area of .

Then the coordinates of C are

Watch Video Solution

+ = 1
x

a

y

b

ΔAOC ΔBOC

130. The line joining two points A(2,0) and B(3,1) is rotated about A in

anticlockwise direction through an angle of . find the equation of line

in the new position. If B goes to C in the new position what will be the

coordinates of C.

Watch Video Solution

15∘

https://dl.doubtnut.com/l/_1ub63UmLds7G
https://dl.doubtnut.com/l/_seYzCo4gYWyf
https://dl.doubtnut.com/l/_QyhfdTu2VZ1b


131. The area of the triangle formed by the lines 

and the y-axis is
(a) 
(b) 
(c) 
(d) 

Watch Video Solution

y = ax, x + y − a = 0

1

2|1 + a|

1

|1 + a|
∣∣
∣

∣∣
∣

1

2
a

1 + a

a2

2|1 + a|

132. Find the equation of the lines through the point (3, 2) which make
an

angle of 
with the line 
.

Watch Video Solution

450 x − 2y = 3

133. Consider the points 
be a point on the line 


 . The coordinates of 
 such that 
 is

maximum are
 (a) 
 (b) 
 (c) 
 (d) 

Watch Video Solution

A(0, 1)andB(2, 0), andP

4x + 3y + 9 = 0 P |PA − PB|

( − , )
24

5

17

5
( − , )

84

5

13

5
( , )

31

7

31

7

( − 3, 0)

https://dl.doubtnut.com/l/_ZmGcz8NGihbe
https://dl.doubtnut.com/l/_4jcXTWTcB5nR
https://dl.doubtnut.com/l/_tKhlPZ9G8JK3


134. A straight line is drawn through the point P(2,3) and is inclined at an

angle of  with the x-axis . Find the coordinates of two points on it at a

distance 4 from point P.

Watch Video Solution

30∘

135. A line of fixed length 2 units moves so that its ends are on the

positive x-axis and that part of the line 
 which lies in the

second quadrant. Then the locus of the midpoint of
the line has equation.

Watch Video Solution

x + y = 0

136. The perpendicular
 from the origin to a line meets it at the point


, find the
equation of the line.

Watch Video Solution

(2, 9)

https://dl.doubtnut.com/l/_MzbfuQlphuKj
https://dl.doubtnut.com/l/_ZSDnL5UQSsQI
https://dl.doubtnut.com/l/_rve0upfPzbli


137. The line x/3 +y/4=1 meets y-and x-axis at A and B, respectively. A

square ABCD is constructed on the line segment AB away from the origin.

The coordinates of the vertex of the square fathest from the origin are

A. (a) (7,3)

B. (b) (4,7)

C. (c) (6,4)

D. (d) (3,8)

Answer: null

Watch Video Solution

138. Find the direction in which a straight line must be drawn through the

point (-1,2) so that its point of intersection with the line x+y=4 may be at a

distance of 3 units from this point.

Watch Video Solution

https://dl.doubtnut.com/l/_IJGHoiyfjiQs
https://dl.doubtnut.com/l/_fRMqfhsAA1Uw


139. The centroid of an equilateral triangle is (0, 0). If two vertices of
the

triangle lie on 
then one of them will have its coordinates. 


(a) 
 (b) 
 (c)


(d) none of these

Watch Video Solution

x + y = 2√2,

(√2 + √6, √2 − √6) (√2 + √3, √2 − √3)

(√2 + √5, √2 − √5)

140. Two fixed point A and B are taken on the cordinate axes such that OA

= a and OB = b. Two variable points A' and B' are taken on the same axes

such that OA'+OB' = OA + OB. Find the locus of the point of intersection of

AB' and A'B.

Watch Video Solution

141. Find the equations of the lines, which cut-off intercepts on the axes

whose sum and product are 
and 
, respectively.

Watch Video Solution

1 −6

https://dl.doubtnut.com/l/_tb886FigUWMS
https://dl.doubtnut.com/l/_JeKILrrTvjur
https://dl.doubtnut.com/l/_Y2PXLe9IJ4Ja


142. Find the equation of the straight line which passes through the

origin and makes angle  with the line  


Watch Video Solution

60∘ x + √3y + 3

√3 = 0

143. The equation of a straight line passing through the point (2, 3) and

inclined at an angle of 
with the line 
(a) 
 (b) 


 
(d) 

Watch Video Solution

tan− 1( )
1

2
y + 2x = 5 y = 3

x = 2 3x + 4y − 18 = 0 4x + 3y − 17 = 0

144. If we reduce 
 to the form 

then find the value of .

Watch Video Solution

3x + 3y + 7 = 0 x cosα + y sinα = p,

p

https://dl.doubtnut.com/l/_uoLWdpWpp2e5
https://dl.doubtnut.com/l/_cYTdGE9IoaCH
https://dl.doubtnut.com/l/_pfFyjEoh0HPN


145. The equation of the lines on which the perpendicular from the origin

make  angle with the x-axis and which form a triangle of area 

with the axes are

Watch Video Solution

30∘ 50/√3

146. Line 
has intercepts 
on the coordinate axes. When the axes

are rotated through a given angle
keeping the origin fixed, the same line


 has intercepts .
 Then
 (a) 
 (b) 


(c) 
(d) 

Watch Video Solution

L a and b

L p and q a2 + b2 = p2 + q2

+ = +
1

a2

1

b2

1

p2

1

q2
a2 + p2 = b2 + q2 + = +

1

a2

1

p2

1

b2

1

q2

147. A line intersects the straight lines 5x-y-4=0 and 3x-4y-4=0 at A and B,

respectively.If a point P(1,5) on the line AB is such that AP : PB =

2:1(internally), find point A.

Watch Video Solution

https://dl.doubtnut.com/l/_nkv6ZbgcqWtF
https://dl.doubtnut.com/l/_QaDCz34QHY9L
https://dl.doubtnut.com/l/_CEStObhgAXMr


148. A line 
is a drawn from 
to meet the lines 
given

by 
 and 
 at points 
 ,

respectively. From 
, a line perpendicular to 
is drawn meeting the line


 at 
 Similarly, from point 
 Thus, a parallelogram 
 is

formed. Then the equation of 
 so that the area of the parallelogram


 is the least is
 (a) 
 (b) 
 (c) 


(d) 

Watch Video Solution

L P (4, 3) L − 1andL2

3x + 4y + 5 = 0 3x + 4y + 15 = 0 AandB

A L

L2 A1. B1. ∀1BB1

L

∀1BB1 x − 7y + 17 = 0 7x + y + 31 = 0

x − 7y − 17 = 0 x + 7y − 31 = 0

149. A straight line through the point A (3,4) is such that its intercept

between the axis is bisected at A then its equation is :
 A.  B. 

 C.  D. 

Watch Video Solution

x + y = 7

3x − 4y + 7 = 0 4x + 3y = 24 3x + 4y = 24

150. Two straight line u=0 and v=0 pass through the origin and the angle

between them is  If the ratio of the slope of v=0 and u=0 istan− 1(7/9).

https://dl.doubtnut.com/l/_eKKkSa5dvzty
https://dl.doubtnut.com/l/_lzDBWUyTqcQt
https://dl.doubtnut.com/l/_h2GzOR2OWu6P


9/2, then their equations are

Watch Video Solution

151. A straight line through the point (2,2) intersects the lines

 at thep points A and B, respectively.

Then find the equation of the line AB so that triangle OAB is equilateral.

Watch Video Solution

√3x + y = 0  and √3x − y = 0

152. Let 

be two straight lines. The equations of the bisectors of the angle
formed

by 
 and 
 , for nonzero and real 
 and 

are

Watch Video Solution

u = ax + by + a3√b = 0, v = bx − ay + b3
√a = 0, a, b ∈ R,

k1u − k2v = 0 k1u + k2v = 0 k1 k2

https://dl.doubtnut.com/l/_h2GzOR2OWu6P
https://dl.doubtnut.com/l/_x02NNoAPUa8d
https://dl.doubtnut.com/l/_gaf6aToSJs3v


153. If the foot of the perpendicular from the origin to a straight line is at

(3,-4), then find the equation of the line.

Watch Video Solution

154. Two sides of a triangle are parallel to the coordinate axes. If the

slopes of the medians through the acute angles of the triangle are 2 and


then 

Watch Video Solution

m, m =

155. The diagonals 
 and 
 of a rhombus intersect at 
 If 


then find the equation of diagonal 

Watch Video Solution

AC BD (5, 6).

A = ( − 3, 2), BD.

https://dl.doubtnut.com/l/_SUSTDpvf723p
https://dl.doubtnut.com/l/_eQI43vXfL38e
https://dl.doubtnut.com/l/_F04F82PZrf2S


156. A line which makes an acute angle 
with the positive direction of the

x-axis is drawn through the point 
 to meet the line 
 at 

and 
at 
Then,

Watch Video Solution

θ

P (3, 4) x = 6 R

y = 8 S.

157. Find the values of non-negative real numbers 

such that algebraic sum of the perpendiculars drawn from points

 on a variable line

passing through (2,1) is zero.

Watch Video Solution

h1, h2, h3, k1, k2, k3

(2, k1), (3, k2), (7, k3), (h1, 4), (h2, 5), (h3, − 3)

158. The sides of a triangle ABC lie on the lines 

and  . Let  be the centre of the circle inscribed in .

The value of  equals

Watch Video Solution

3x + 4y = 0, 4x + 3y = 0

x = 3 (h, k) △ ABC

(h + k)

https://dl.doubtnut.com/l/_wiWMVu8ofnvF
https://dl.doubtnut.com/l/_UV6l0R5Jotna
https://dl.doubtnut.com/l/_V8B2HeGFOh6x


159. If a and b are two arbitray constants, then prove that the straight

line (a-2b)x+(a+3b)y+3a+4b=0 will pass through a fixed. Find that point.

Watch Video Solution

160. Find the incentre of a triangle formed by the lines

 and 

Watch Video Solution

xcos + ysin = π, xcos + ysin = π
π

9

π

9

8π

9

8π

9

xcos + ysin( ) = π.
13π

9

13π

9

161. If the two sides of rhombus are x+2y+2=0 and 2x+y-3=0, then find the

slope of the longer diagonal.

Watch Video Solution

https://dl.doubtnut.com/l/_sOUfrHJKjPwm
https://dl.doubtnut.com/l/_aCRIgNZG0RyK
https://dl.doubtnut.com/l/_2AwVuZ6hAzf0


162. The lines 
 and 


 are
 (a)concurrent for three values of 

(b)concurrent for no value of 
 (c)parallel for one value of 
 (d)parallel

for two values of 

Watch Video Solution

x + y − 1 = 0, (m − 1)x + (m2 − 7)y − 5 = 0,

(m − 2)x + (2m − 5)y = 0 m

m m

m

163. In triangle ABC, the equation of the right bisectors of the sides AB

and AC are x+y=0 and y-x=0. respectively. 

If  the find the equation of side BC.

Watch Video Solution

A ≡ (5, 7)

164. If 
 and 
 intersect the axes at

four concylic points and 
 then these lines can

intersect at, 
`

Watch Video Solution

( ) + ( ) = 1
x

a

y

b
( ) + ( ) = 1
x

c

y

d

a2 + c2 = b2 + d2,

(a, b, c, d > 0)

https://dl.doubtnut.com/l/_y26Mjikoy674
https://dl.doubtnut.com/l/_xbuW5SrQ4dAi
https://dl.doubtnut.com/l/_j1aXkSjibWBS


165. Show that the straight lines given by


 for different values of 
 pass

through a fixed point.

Watch Video Solution

x(a + 2b) + y(a + 3b) = a + b a and b

166. The straight line 
 meets the coordinate axes at 


 . An equilateral triangle 
 is constructed. The possible

coordinates of vertex 
 (a) 
 (b)


 (c) 
 (d)

Watch Video Solution

3x + 4y − 12 = 0

AandB ABC

C (2(1 − ), (1 − ))
3√3

4

3

2
4

√3

( − 2(1 + √3), (1 − √3))
3

2
(2(1 + √3), (1 + √3))

3

2

(2(1 + ), (1 + ))
3√3

4

3

2
4

√3

167. Let ax+by+c=0 be a variable straight line, where a, b and c are

 terms of an increasing A.P., respectively. 
1st, 3rd  and 7th

https://dl.doubtnut.com/l/_0Dyo1sH4UmmG
https://dl.doubtnut.com/l/_K5B0C0qiBhy8
https://dl.doubtnut.com/l/_tTwZnAyNsPoz


Then prove that the variable straight line always passes through a fixed

point and find that point.

Watch Video Solution

168. Angle made with the x-axis by a straight line drawn through (1, 2) so

that it intersects 
at a distance 
from (1, 2) is
(a) 
(b) 

(c) 
(d) 

Watch Video Solution

x + y = 4
√6

3
1050 750

600 150

169. Prove that all the having sum of the intercepts on the axes equal to

half of the product of the intercepts pass through a fixed point. Also, find

that fixed point.

Watch Video Solution

https://dl.doubtnut.com/l/_tTwZnAyNsPoz
https://dl.doubtnut.com/l/_oIZ5DnpgGLVT
https://dl.doubtnut.com/l/_VaJq41gp2CZb


170. Three straight lines

Watch Video Solution

2x + 11y − 5 = 0, 24x + 7y − 20 = 0 and 4x − 3y − 2 = 0

171. Find the straight line passing through the point of intersection of

lines 2x+3y+5=0 and 5x-2y-16=0 and through the point (-1,3) using the

concept of family of lines.

Watch Video Solution

172. Three lines 

form the three sides of two squares. The equation of the four side of the

each square is

Watch Video Solution

x + 2y + 3 = 0, x + 2y − 7 = 0, and2x − y − 4 = 0

https://dl.doubtnut.com/l/_QJLuGPE64LjF
https://dl.doubtnut.com/l/_Ue8g5ENLhROH
https://dl.doubtnut.com/l/_ssWZDRlrLaxD


173. Consider a family of straight lines . 


Find the equation of the straight line belonging to his family that is

farthest from (1,-3).

Watch Video Solution

(x + y) + λ(2x − y + 1) = 0

174. Find  if  lies inside the triangle having sides along the lines

2x+3y=1, x+2y-3=0, 6y=5x-1.

Watch Video Solution

α (α, α2)

175. If 5a+4b+20c=t,then the value of t for which the line ax+by+c-1=0

always passes through a fixed point is

Watch Video Solution

https://dl.doubtnut.com/l/_wRQIlA3bqSFc
https://dl.doubtnut.com/l/_QUaXLpOrKCXI
https://dl.doubtnut.com/l/_QEwA5rCeTIHP


176. If the chord y = mx + 1 subtends an angle of measure  at the major

segment of the circle  then value of 'm' is

Watch Video Solution

450

x2 + y2 = 1

177. If 
 is any line passing through the intersection point of

the lines
 
 and 
 then prove that


Watch Video Solution

+ = 1
x

l

y

m

+ = 1
x

a

y

b
+ = 1

x

b

y

a

+ = +
1

l

1

m

1

a

1

b

178. Two sides of a rhombus OABC (lying in the first or third quadrant) of

area equal to 2 sq. units are  Then the possible

coordinates of B is are (O being the origin)

Watch Video Solution

y = x/√3, y = √3x.

https://dl.doubtnut.com/l/_FVxs7VaWXMP1
https://dl.doubtnut.com/l/_xCmJ3zlcd7o5
https://dl.doubtnut.com/l/_izHTiWjuBiz9


179. The equation of straight line belonging to both the families of lines

 and

 where  are arbitrary

numbers is (A)  (B)  (C) 

(D) 

Watch Video Solution

(x − y + 1) + λ1(2x − y − 2) = 0

(5x + 3y − 2) + λ2(3x − y − 4) = 0 λ1, λ2

5x − 2y − 7 = 0 2x + 5y − 7 = 0 5x + 2y − 7 = 0

2x − 5y − 7 = 0

180. If 
 and 
 are the roots of the equation 
 ,

then the area of the triangle formed by the three straight lines


and 
is
`

Watch Video Solution

m1 m2 x2 − ax − a − 1 = 0

y = m1x, y = m2x, y = a(a ≠ − 1)

181. Let the algebraic sum of the perpendicular distance from the points

(2,
 0), (0,2), and (1, 1) to a variable straight line be zero. Then the line

passes through a fixed point whose coordinates are___

Watch Video Solution

https://dl.doubtnut.com/l/_VxPxtHXWTrVM
https://dl.doubtnut.com/l/_ATCGYE0w5zTC
https://dl.doubtnut.com/l/_wSSkBw9tRxqr


Watch Video Solution

182. If the points 

and 
 where 
 are different from 1, lie on the 


, then

Watch Video Solution

( ), ( ), ( ), (( ),
a3

(a − 1)

(a2 − 3)

(a − 1)

b3

b − 1

b2 − 3

(b − 1)

( ),
(c2 − 3)

(c − 1)
a, b, c

lx + my + n = 0

183. If 
 are in harmonic progression, then the straight line 


always passes through a fixed point. Find that

point.

Watch Video Solution

a, b, c

( ) + ( ) + ( ) = 0
x

a

y

b

1

c

184. A variable line cuts n given concurrent straight lines at 

such that  is a constant. Show that it always passes through a

fixed point, O being the point of intersection of the lines

A1, A2...An

n

∑
i= 1

1

OAi

https://dl.doubtnut.com/l/_wSSkBw9tRxqr
https://dl.doubtnut.com/l/_m8ME5mBFy66w
https://dl.doubtnut.com/l/_ku1Net8s5H23
https://dl.doubtnut.com/l/_TToqB2NpsA07


Watch Video Solution

185. Prove that the area of the parallelogram formed by the lines

 i s 

Watch Video Solution

3x − 4y + a = 0,  3x − 4y + 3a = 0,  4x − 3y − a = 0`and4x − 3y − 2a

= 0 sq
.
units.

2a2

7

186. Two sides of a rhombus lying in the first quandrant are given by 3x-

4y=0 and 12x-5y=0 If the length of the longer diagonal is 12, then find the

equation of the other two sides of the rhombus.

Watch Video Solution

187. The equation of straight line passing through (-2,-7) and having an

intercept of length 3 between the straight lines : 4x + 3y = 12 , 4x + 3y = 3

are :


(A) 7x + 24y + 182 = 0 

https://dl.doubtnut.com/l/_TToqB2NpsA07
https://dl.doubtnut.com/l/_9Evo8umFY5Mk
https://dl.doubtnut.com/l/_wni4KDHLdZFE
https://dl.doubtnut.com/l/_SUOBKSqdEeOv


(B) 7x + 24y + 18 = 0 

(C) x + 2 = 0 

(D) x - 2 = 0

Watch Video Solution

188. Let 
 be a given isosceles triangle with 
 . Sides 


 are extended up to 
 respectively, such that 


 Prove that the line 
 always passes through a fixed

point.

Watch Video Solution

ABC AB = AC

ABandAC EandF ,

BE ⋅ CF = AB2. EF

189. ABC is an equilateral triangle with A(0,0) and B(a,0), . 


L,M and V are the foot of the perpendiculars drawn from a point P to the

sides AB, BC, and CA, respectively. If P lies inside the triangle and satisfies

the condition  then find the locus of P.

Watch Video Solution

(a > 0)

PL2 = PM ⋅ PN,

https://dl.doubtnut.com/l/_SUOBKSqdEeOv
https://dl.doubtnut.com/l/_UlrgmY6sJ5Cs
https://dl.doubtnut.com/l/_6enfUuVx0mmk


190. Let  be two fixed lines. A variable line is drawn

through the origin to cut the two lines at R and S. P is a point on the line

AB such that (m+n)/OP=m/OR+n/OS. Show that the locus of P is a straight

line passing through the point of intersection of the given lines (R,S,P are

on the same side of O).

Watch Video Solution

L1 = 0  and L2 = 0

191. Find the points on 
 whose perpendicular distance from the

line 
is 

Watch Video Solution

y − ais

4x − 3y − 12 = 0 3.

192. Find all the values of 
 for which the point 
 lies inside

the square formed by the line 
and 

Watch Video Solution

θ (sin2 θ, sin θ)

xy = 0 4xy − 2x − 2y + 1 = 0.

https://dl.doubtnut.com/l/_6enfUuVx0mmk
https://dl.doubtnut.com/l/_sUolaAZ614K7
https://dl.doubtnut.com/l/_3nQ3zj8lvnmZ
https://dl.doubtnut.com/l/_JNTC3CvgRr9k
https://dl.doubtnut.com/l/_ugM4s6yusMLE


193. If p and q are the lengths of perpendiculars from the origin to
 the

lines 
 and 
 ,

respectively, prove that 
.

Watch Video Solution

x cos θ − y sin θ = k cos 2θ x secθ + y  cosecθ = k

p2 + 4q2 = k2

194. The equations of two sides of a triangle are 3y-x-2=0 and y+x-2=0. The

third side, which is variable, always passes through the point (5,-1). Find

the range of the values of the slope of the third side, so that the origin is

an interior point of the triangle.

Watch Video Solution

195. Prove that the lengths of the perpendicular from the points

 to the line x+y+1=0 are

in GP.

Watch Video Solution

(m2, 2m), (mm' , m + m' ),  and (m'
2 , 2m' )

https://dl.doubtnut.com/l/_ugM4s6yusMLE
https://dl.doubtnut.com/l/_IKfuKzMZXB10
https://dl.doubtnut.com/l/_3k1VUdbx8aJf


196. A triangle has two sides  and  where  and 

are the roots of the equation . If  be the

orthocenter of the triangle, then find the equation of the third side in

terms of ,  and .

Watch Video Solution

y = m1x y = m2x m1 m2

bα2 + 2hα + a = 0 (a, b)

a b h

197. Find the ratio in which the line 3x+4y+2 = 0 divides the distance

between 3x+4y+5=0 and 3x+4y-5=0.

Watch Video Solution

198. Let 
 be the vertices of a

triangle. Find the point 
in the interior of the triangle such that 
is

an equilateral triangle.

Watch Video Solution

A ≡ (6, 7), B ≡ (2, 3)andC ≡ ( − 2, 1)

P PBC

https://dl.doubtnut.com/l/_tsDQbrDPpRf8
https://dl.doubtnut.com/l/_gbf1w5sJNWBE
https://dl.doubtnut.com/l/_dqPlqGmn5sOj
https://dl.doubtnut.com/l/_PgrNYSIqogwW


199. Find the equations of lines parallel to 3x-4y-5 = 0 at a unit distane

from it.

Watch Video Solution

200. Let P , be apoint in a triangle with vertices

(0,0), . Then ,

Watch Video Solution

(sinθ, cosθ), (0 ≤ θ ≤ 2π)

(√3/2, 0)  and (0,√3/2)

201. Find the equation of a straight line passing through the point (-5,4)

and which cuts off an intercept fo  units between the lines x+y+1=0

and x+y-1=0

Watch Video Solution

√2

202. Are the points (3,4) and (2,-6) on the same or opposite sides of the

line 3x-4y=8?

https://dl.doubtnut.com/l/_PgrNYSIqogwW
https://dl.doubtnut.com/l/_jjf6bHbbKUrn
https://dl.doubtnut.com/l/_7TkaEYzUz2sv
https://dl.doubtnut.com/l/_Dz7TGc9tGyIN


Watch Video Solution

203. Consider the equation 
 . If 
 are fixed

and different lines are drawn for different values of 
then
(a) the lines

will pass through a fixed point
(b) there will be a set of parallel lines
(c) all

the lines intersect the line 
 (d)all the lines will be parallel to the

line 

A. (a) the lines will pass through a fixed point

B. (b) there will be a set of parallel lines

C. (c) all the lines intersect the line 

D. (d) all the lines will be parallel to the line 

Answer: null

Watch Video Solution

y − y1 = m(x − x1) mandx1

y1,

x = x1

y = x1

x = x1

y = x1

https://dl.doubtnut.com/l/_Dz7TGc9tGyIN
https://dl.doubtnut.com/l/_oBxk8duxw7Z8


204. If the straight line 
 where 
 makes a

triangle of area 2 sq. units with the coordinate axes, then
(a) 
are in

GP
(b) a, -b, c are in GP
(c) 
are in GP (d) 
are in GP

Watch Video Solution

ax + cy = 2b, a, b, c > 0,

a, b, c

a, 2b, c a, − 2b, c

205. ABCD is a square whose vertices are A(0, 0), B(2, 0), C(2, 2), and D(0,

2). The square is roated in the XY-plane through and angle  in the

anticlockwise sense about an axis passing though A perpendicular to the

XY-plane. Find the equation of the diagonal BD of this rotated square.

Watch Video Solution

30∘

206. The x-coordinates of the vertices of a square of unit area are the

roots of the equation 
 . The y-coordinates of the

vertices are the roots of the equation 
 Then the

possible vertices of the square is/are


x2 − 3|x| + 2 = 0

y2 − 3y + 2 = 0.

(a)(1, 1), (2, 1), (2, 2), (1, 2)

(b)( − 1, 1), ( − 2, 1), ( − 2, 2), ( − 1, 2)

https://dl.doubtnut.com/l/_8MIyiDRtVT1F
https://dl.doubtnut.com/l/_R008SIfytcOq
https://dl.doubtnut.com/l/_9XVPEY1KhBNU


Watch Video Solution

(c)(2, 1), (1, − 1), (1, 2), (2, 2)

(d)( − 2, 1), ( − 1, − 1), ( − 1, 2), ( − 2, 2)

207. Consider a triangle with vertices 
 and 

Find
 the equation of altitude through vertex 
the equation of median

through vertex 
the equation of internal angle bisector of 

Watch Video Solution

A(1, 2), B(3, 1), C( − 3, 0).

A

A ∠A

208. If (x,y) is a variable point on the line y=2x lying between the lines

2(x+1)+y=0, and x+3(y-1)=0, then

Watch Video Solution

209. A rectangle has two opposite vertices at the points (1, 2) and (5,5).
 If

the other vertices lie on the line 
 , find the other vertices of thex = 3

https://dl.doubtnut.com/l/_9XVPEY1KhBNU
https://dl.doubtnut.com/l/_WtVVAQSaVhFH
https://dl.doubtnut.com/l/_tyIzxGTPmujQ
https://dl.doubtnut.com/l/_Nmqpgb8Js4sK


rectangle.

Watch Video Solution

210. If 
 are three points on the sides 
 of a

triangle 
 such that 
 are concurrent, then show

that 
.

Watch Video Solution

D, E, andF BC, AC, andAB

ABC AD, BE, andCF

BD ⋅ CE ⋅ AF = DC ⋅ EA ⋅ FB

211. Find the coordinates of the foot of the perpendicular drawn from the

point P(1,-2) on the line y = 2x +1. Also, find the image of P in the line.

Watch Video Solution

212. Let the sides of a parallelogram be U=a, U=b,V=a' and V=b', where

U=lx+my+n, V=l'x+m'y+n'. Show that the equation of the diagonal through

https://dl.doubtnut.com/l/_Nmqpgb8Js4sK
https://dl.doubtnut.com/l/_oEJJ9LSLGdwY
https://dl.doubtnut.com/l/_PX5Tp3yZ6XkA
https://dl.doubtnut.com/l/_j5RCaiA2nGKZ


the point of intersection of 

 

Watch Video Solution

U = a, V = a' and U = b, V = b'  is given by 

∣
∣

∣
∣

U V 1

a a' 1

b b' 1

∣
∣

∣
∣

= 0.

213. Find the image of the point (-8,12) which respect to the line 4x + 7y

+13 =0

Watch Video Solution

214. One side of a rectangle lies along the line 4x+7y+5=0. Two of its

vertices are (-3,1) and (1,1). Find the equations of the other three sides.

Watch Video Solution

215. In a triangle 
 side 
 has equation 
 and side 


has equation 
If the midpoint of 
 is (5, 6), then find

ABC, AB 2x + 3y = 29

AC x + 2y = 16. BC

https://dl.doubtnut.com/l/_j5RCaiA2nGKZ
https://dl.doubtnut.com/l/_FZ5gVc1seSKL
https://dl.doubtnut.com/l/_mh8lMHjw1hwn
https://dl.doubtnut.com/l/_Ea4p2PR695sV


the equation of 

Watch Video Solution

BC.

216. The fooot of the perpendicular on the line  drawn from

the origin is C. if the line cuts the x- and the y-axis at A and B,

respectively,then  is

Watch Video Solution

3x + y = λ

BC :CA

217. Two consecutive sides of a parallelogram are 
 and 


 . If the equation of one diagonal is 
find the

equation of the other diagonal.

Watch Video Solution

4x + 5y = 0

7x + 2y = 0 11x + 7y = 9,

218. The real value of a for which the value of 
 satisfying the equation


 given the slope of a line parallel to

m

(a2 − 1)m2 − (2a − 3)m + a = 0

https://dl.doubtnut.com/l/_Ea4p2PR695sV
https://dl.doubtnut.com/l/_CRMdlaOVkZhY
https://dl.doubtnut.com/l/_b7goP6pjpYBA
https://dl.doubtnut.com/l/_tbvNwVppnzgK


the y-axis is(a)
 
(b) 0
(c) 1 (d)


Watch Video Solution

3

2
±1

219. If one of the sides of a square is 3x-4y-12 = 0 and the center is (0,0),

then find the equations of the diagonals of the square.

Watch Video Solution

220. If the quadrilateral formed by the lines


 has perpendicular diagonals, then
 (a) 
 (b)


(c) 
(d) none of these

Watch Video Solution

ax + by + c = 0, a ′x + b ′y + c = 0, ax + by + c ′ = 0, a ′x + b ′y + c ′

= 0 b2 + c2 = b '2 + c '2

c2 + a2 = c '2 + a '2 a2 + b2 = a '2 + b '2

221. A vertex of an equilateral triangle is (2,3) and the equation of the

opposite side is x+y=2. Find the equation of the other sides of the

https://dl.doubtnut.com/l/_tbvNwVppnzgK
https://dl.doubtnut.com/l/_rnOxftFJpseT
https://dl.doubtnut.com/l/_O247Rx3PTkR0
https://dl.doubtnut.com/l/_jxu4qpBfcZWk


triangle.

Watch Video Solution

222. The straight lines 
 and form an

isosceles triangle with the line The area of this triangle is equal to


(b) (d) none of these

Watch Video Solution

7x − 2y + 10 = 0 7x + 2y − 10 = 0

y = 2.

sq
.
units

15

7
sq

.
units

10

7
sq

.
units

18

7

223. Find the least value of  under the condition

3x+4y -2 = 0.

Watch Video Solution

(x − 1)2 + (y − 2)2

224.  are the inclination of lines  with the x-axis. If

 pass through , then the equation of one of the

angle bisector of these lines is

θ1 and θ2 L1 and L2

L1 and L2 P (x1, y1)

https://dl.doubtnut.com/l/_jxu4qpBfcZWk
https://dl.doubtnut.com/l/_CWBZ7aMCMUVR
https://dl.doubtnut.com/l/_MxNjkFCJ9Wlg
https://dl.doubtnut.com/l/_bdx9A25oc2Ca


Watch Video Solution

225. Find the least and the greatest values of distance of the point

 from the line 3x-4y+10=0.

Watch Video Solution

(cosθ, sinθ), θ ∈ R,

226. A light ray coming along the line 
 gets reflected from

the line 
and goes along the line 
Then,

Watch Video Solution

3x + 4y = 5

ax + by = 1 5x − 12y = 10.

227. Prove that the product of the lengths of the perpendiculars drawn

from the points

Watch Video Solution

(√a2 − b2, 0)  and( − √a2 − b2, 0)  to the line cos θ +  sinθ = 1
x

a

y

b

https://dl.doubtnut.com/l/_bdx9A25oc2Ca
https://dl.doubtnut.com/l/_WWy5GcCWVvak
https://dl.doubtnut.com/l/_Ezo9RIeu7hd3
https://dl.doubtnut.com/l/_o8byZ4HUFgTM
https://dl.doubtnut.com/l/_GtF3Tl4ZJzSJ


228. Line 
 makes angle 
 with 


 . If these lines and the line 


are concurrent, then

Watch Video Solution

ax + by + p = 0
π

4

x cosα + y sinα = p, p ∈ R+

x sinα − y cosα = 0

229. Two sides of a square lie on the lines x+y=1 and x+y+2=0. What is its

area?

Watch Video Solution

230. A line is drawn perpendicular to line 
 meeting the

coordinate axes at 
 . If the area of triangle 
 is 10 sq. units,

where 
 is the origin, then the equation of drawn line is
 (a) 

(b) 
 
(d) 

Watch Video Solution

y = 5x,

AandB OAB

O 3x − y − 9

x + 5y = 10 x + 4y = 10 x − 4y = 10

https://dl.doubtnut.com/l/_GtF3Tl4ZJzSJ
https://dl.doubtnut.com/l/_GQPousDVHmDZ
https://dl.doubtnut.com/l/_sK0ucTZzlIrv


231. Find the coordinates of a point on x+y+3=0, whose distance from

x+2y+2=0 is .

Watch Video Solution

√5

232. If 
 are the sides of an isosceles

triangle having area 
 , the equation of the third side is
 (a) 


(b) 
(c) 
(d) 

Watch Video Solution

x − 2y + 4 = 0and2x + y − 5 = 0

10sq
.
units

3x − y = − 9 3x − y + 11 = 0 x − 3y = 19 3x − y + 15 = 0

233. If p is the length of the perpendicular from the origin to the line

Watch Video Solution

+ = 1, then prove that = +
x

a

y

b

1

p2

1

a2

1

b2

https://dl.doubtnut.com/l/_DszVnG1IQzZV
https://dl.doubtnut.com/l/_2azMe3qEomra
https://dl.doubtnut.com/l/_i17OdyYzC6Z9


234. Find the value
 of 
 for which
 the lines ,

,
 
are concurrent.

Watch Video Solution

a 2x + y − 1 = 0

ax + 3y − 3 = 0 3x + 2y − 2 = 0

235. The centre of a square is at the origin and one vertex is A(2,1). Find

the coordinates of other vertices of the square.

Watch Video Solution

236. 
 is a square 
 If line 
 passes

through 
 then the midpoint of 
 is
 (a) (2, 6) (b) 
 (c) 

(d) 

Watch Video Solution

ABCD A ≡ (1, 2), B ≡ (3, − 4). CD

(3, 8), CD (6, 2) (2, 5)

( , )
28

5

1

5

https://dl.doubtnut.com/l/_utWrTnCvTWOp
https://dl.doubtnut.com/l/_Yt4Q6xvAkBhA
https://dl.doubtnut.com/l/_TCVZPKGWnvhm


237. Find the distance between 
 on the line of gradient 3/4 and

the point of intersection 
of this line with 

Watch Video Solution

A(2, 3)

P 5x + 7y + 40 = 0.

238. The equation of the straight line which passes through the point

(-4,3) such that the portion of the line between the axes is divided

internally by the point in the ratio 5:3 is

Watch Video Solution

239. If one side of the square is 2x-y+6=0 and one of the vertices is (2,1)

then find the other sides of the square.

Watch Video Solution

https://dl.doubtnut.com/l/_J0I8pGKoQOw6
https://dl.doubtnut.com/l/_PygELD5qGlsy
https://dl.doubtnut.com/l/_ruP6fCCgyFpQ


240. The equation of the bisector of the acute angle between the lines


and 
is

Watch Video Solution

2x − y + 4 = 0 x − 2y = 1

241. Find equation of
 the line which is equidistant from parallel lines


and 
.

Watch Video Solution

9x + 6y − 7 = 0 3x + 2y + 6 = 0

242. If the equations 
 and 
 represent

the same straight line, then
 (a) 
 (b) 
 (c)


(d) 

Watch Video Solution

y = mx + c x cosα + y sinα = p

p = c√1 + m2 c = p√1 + m2

cp = √1 + m2 p2 + c2 + m2 = 1

https://dl.doubtnut.com/l/_xGvQSZkEaCz2
https://dl.doubtnut.com/l/_sAhsQGwjcsJw
https://dl.doubtnut.com/l/_B4vihBaidfwX


243. Find the equation of the line passing through 
which is parallel

to the x-axis.

Watch Video Solution

(2, 3)

244. Consider three lines as follows.



 
 If these lines enclose a triangle 


 and the sum of the squares of the tangent to the interior angles

can be
 expressed in the form 
 where  and 
 are relatively prime

numbers, then the value of 
is

Watch Video Solution

L1 : 5x − y + 4 = 0

L2 : 3x − y + 5 = 0 L3 : x + y + 8 = 0

ABC

,
p

q
p q

p + q

245. Find the equation of a straight line cutting off an intercept-1 from

the y-axis and being equally inclined to the axes.

Watch Video Solution

https://dl.doubtnut.com/l/_iGOX17BbbaWQ
https://dl.doubtnut.com/l/_8FC3oR189Xe2
https://dl.doubtnut.com/l/_UmhERObLlZEK
https://dl.doubtnut.com/l/_e6cfpKUciXoe


246. The line 
 intersects the x-and y-axies at 


respectively. A variable line perpendicular to 
intersects the x-

and the y-axis at 
 and 
 , respectively. Then the locus of the

circumcenter of triangle 
is

Watch Video Solution

L1 ≡ 4x + 3y − 12 = 0

AandB, L1

P Q

ABQ

247. Find the equation of the line which intersects the y-axis at a distance

of 2 units above the origin and makes and angle of  with the positive

direction of the x-axis.

Watch Video Solution

30∘

248. Find the locus of the point at which two given portions of the

straight
line subtend equal angle.

Watch Video Solution

https://dl.doubtnut.com/l/_e6cfpKUciXoe
https://dl.doubtnut.com/l/_7P8BP3v6R7eT
https://dl.doubtnut.com/l/_SNwuPDfraoXm


249. Find the equation of the perpendicular bisector of the line segment

joining the points A(2,3) and B (6,-5).

Watch Video Solution

250. Having given the bases and the sum of the areas of a number of

triangles which have a common vertex, show that the locus of the vertex

is a
straight line.

Watch Video Solution

251. Find the equation of a line that y-intercept 4 and is perpendicular to

the joining A(2,-3) and B(4,2).

Watch Video Solution

https://dl.doubtnut.com/l/_bcOM4uzWhhgr
https://dl.doubtnut.com/l/_ez8DD2l6Yw3L
https://dl.doubtnut.com/l/_GYhyPJ44cuwR


252. The equations of the diagonals of square formed by lines 

x=0, y=0, x=1, and y=1 are

Watch Video Solution

253. Find the equation of the straight line that passes through the point


and is perpendicular to the line 

Watch Video Solution

(3, 4) 3x + 2y + 5 = 0

254. Find the equation of the line which is parallel to 

and passes through the point .

Watch Video Solution

3x − 2y + 5 = 0

(5, − 6)

255. Consider two lines 
 given by L1andL2

a1x + b1y + c1 = 0anda2x + b2y + c2 = 0respectivelywherec1 and c2 ≠

https://dl.doubtnut.com/l/_e1vXhxy9MVBd
https://dl.doubtnut.com/l/_Fr7ZqWuQFsBt
https://dl.doubtnut.com/l/_c0u1VLLWJUEM
https://dl.doubtnut.com/l/_gSMZytAjkftq


intersecting at point 
line 
is drawn through the origin meeting the

lines 
 at 
 respectively, such that 
 . Similarly,

one more line
 
is drawn through the
origin meeting the lines 

at 
 respectively, such that 
 Obtain the combined

equation of lines 

Watch Video Solution

P
.
A L3

L1andL2 AandB, PA = PB

L4 L1andL2

A1andB2, PA1 = PB1.

L3andL4.

256. Find the locus of point P which moves such that its distance from the

line  is the same as its distance from 

Watch Video Solution

y = √3x − 7 (2√3, − 1)

257. Consider two lines  given by x-y=0 and x+y=0, respectively,

and a moving point P(x,y). Let d , i=1,2, represents the distance of

point P from the line . If point P moves in a certain region R is such a

way that  


find the area of region R.

W t h Vid S l ti

L1  and L2

(P , Li)

Li

2 ≤ d(P , L1) + d(P , L2) ≤ 4,

https://dl.doubtnut.com/l/_gSMZytAjkftq
https://dl.doubtnut.com/l/_fCOqVubVLXt2
https://dl.doubtnut.com/l/_nHzL5zNzSpkx


Watch Video Solution

258. In what ratio does the line joining the points (2, 3) and (4, 1) divide

the segment joining the points (1, 2) and (4, 3)?

Watch Video Solution

259. Show that the lines 4x+y-9=0, x-2y+3=0, 5x-y-6=0 make equal

intercepts on any line of slope 2

Watch Video Solution

260. Find the equation of the bisector of the obtuse angle between of the

lines 3x-4y+7 = 0 and 12+5y-2 = 0

Watch Video Solution

https://dl.doubtnut.com/l/_nHzL5zNzSpkx
https://dl.doubtnut.com/l/_1FjCaQrljKnH
https://dl.doubtnut.com/l/_ecCV4OfKesJ6
https://dl.doubtnut.com/l/_tFEJjo1pm6W3


261. A Line through the variable point  meets the lines 

x-5y+8=0` at B,C,D respectively.

Prove that AC;AB and AD are in HP.

Watch Video Solution

A(1 + k, 2k)

7x + y − 16 = 0; 5x − y − 8 = 0 and

262. The incident ray is along the line 24x+7y+5=0. Find the equation of

mirrors.

Watch Video Solution

263. If the line 
 cuts the curve 


 at the point 

then 
is equal to 
. The value of 
is______

Watch Video Solution

y = √3x

x3 + y3 + 3xy + 5x2 + 3y2 + 4x + 5y − 1 = 0 A, B, C,

OA
.
OB

.
OC ( )(3√3 − 1)

k

13
k

https://dl.doubtnut.com/l/_pGFiKmFM2BId
https://dl.doubtnut.com/l/_vy5bN0MJl6PL
https://dl.doubtnut.com/l/_Q4K65E6fry6J


264. Two equal sides of an isosceles triangle are 7x-y+3=0 and x+y-3=0. Its

third side passes the point (1,-10). 

Determine the equation of the third side.

Watch Video Solution

265. The area of a parallelogram formed by the lines 
is

Watch Video Solution

ax ± by ± c = 0

266. The vertices, B and C of a triangle ABC lie on the lines 3y=4x and y=0,

respectively. The side BC passes through the point (2/3, 2/3). If ABOC is a

rhombus lying in first quadrant, O being the origin, them find the

equation of the line BC.

Watch Video Solution

https://dl.doubtnut.com/l/_dcsfSI4QsGuk
https://dl.doubtnut.com/l/_ZlcEyapIVozJ
https://dl.doubtnut.com/l/_KtxI7IenBDtr


267. If each of the points  lies on the line joining the

points (2, -1), (5, -3), then the points  lies on the line :

Watch Video Solution

(x1, 4), ( − 2, y1)

P (x1, y1)

268. If the lines


 are

concurrent, show that the point 
 are

collinear.

Watch Video Solution

a1x + b1y + 1 = 0, a2x + b2y + 1 = 0 and a3x + b3y + 1 = 0

(a1, b1), (a1, b2) and (a3, b3)

269. The diagonals of a parallelogram PQRS are along the lines x+3y =4

and 6x-2y = 7, Then PQRS must be :

Watch Video Solution

https://dl.doubtnut.com/l/_Fy9tXi1m1DWW
https://dl.doubtnut.com/l/_0AydBNf2kQdL
https://dl.doubtnut.com/l/_oxvI3tUKHhv5


270. For the straight lines 4x+3y-6 = 0 and 5x+12y+9 = 0, find the equation

of the: 

(i) bisector of the abtuse angle between them 

(ii) bisector of the acute angle between them 

(iii) bisector of the angle which contains (1,2) 

(iv) bisector of the angle which contains (0,0)

Watch Video Solution

271. A straight line segment AB of length 'a' moves with its ends on the

axes. Then the locus of the point P which divides the line in the ratio 1:2 is

Watch Video Solution

272. Find the foot of the perpendicular from the point 
 upon 

Watch Video Solution

(2, 4)

x + y = 1.

https://dl.doubtnut.com/l/_Qp3to982N49T
https://dl.doubtnut.com/l/_QNt4ateFTn1E
https://dl.doubtnut.com/l/_SfKcVydhaOl6


273. The lines 
 and 


 are
 (a)concurrent for three values of 

(b)concurrent for no value of 
 (c)parallel for one value of 
 (d)parallel

for two values of 

Watch Video Solution

x + y − 1 = 0, (m − 1)x + (m2 − 7)y − 5 = 0,

(m − 2)x + (2m − 5)y = 0 m

m m

m

274. In  , vertex A is (1,2). If the internal angle bisector of  is 2x-

y+10=0 and the perpendicular bisector of AC is y=x, then find the equation

of BC.

Watch Video Solution

ΔABC ∠B

275. Find the equation of the bisector of the obtuse angle between of the

lines 3x-4y+7 = 0 and 12+5y-2 = 0

Watch Video Solution

https://dl.doubtnut.com/l/_Ceq6P8NMzz5d
https://dl.doubtnut.com/l/_dNCx6LOXeaJV
https://dl.doubtnut.com/l/_oPme8j7jTPRc
https://dl.doubtnut.com/l/_SBi6yzvkmCkS


276. The line ax+by=1 passes through the point of intertsection of y=x tan

. If it is

inclined at , then prove that .

Watch Video Solution

α + p  sec α  and ysin(30∘ − α) − xcos(30∘ − α) = p

30∘  with y = (tanα)x a2 + b2 =
3

4p2

277. A straight line L is perpendicular to the line 5x-y=1. The aera of the

triangle formed by line L and the coordinate area is 5. Find the equation

of line L.

Watch Video Solution

278. The reflection of the point (4,-13) about the line 
is
a. 


b. 
c. 
d. 

Watch Video Solution

5x + y + 6 = 0

( − 1, − 14) (3, 4) (0, − 0) (1, 2)

https://dl.doubtnut.com/l/_SBi6yzvkmCkS
https://dl.doubtnut.com/l/_wN7Zr1gFDyGe
https://dl.doubtnut.com/l/_18X4EmhT6I1e


279. Triangle 
with 
and 
slides on the

coordinates axes with  and 
on the positive -axis and positive -axis

respectively. The locus of
vertex 
is a line 
Then the value

of 
is_____________

Watch Video Solution

ABC AB = 13, BC = 5, AC = 12

A B x y

C 12x − ky = 0.

k

280. The line  meets the lines  and  at

A and B respectively. Find Coordinates of P on  such that 

Watch Video Solution

y =
3x

4
x − y + 1 = 0 2x − y = 5

y =
3x

4

PA ⋅ PB = 25.

281. In a plane there are two families of lines ,

where . Find the number of squares of diagonals of

length 2 formed by the lines

Watch Video Solution

y = x + r, y = − x + r

r ∈ {0, 1, 2, 3, 4}

https://dl.doubtnut.com/l/_FLcSLr97XJgj
https://dl.doubtnut.com/l/_jiqhDpKy2Biq
https://dl.doubtnut.com/l/_Y2FkaL8YCcNc


282. Line  cuts the co-ordinate axes at A(a,0) and B(0,b) and

the line  at  and . If the points

A,B,A',B' are concyclic then the orthocentre of triangle ABA' is

Watch Video Solution

+ = 1
x

a

y

b

+ = − 1
x

a'

y

b'
A' ( − a' , 0) B' (0, − b' )

283. If P is a point (x,y) on the line y=-3x such that P and the point (3,4) are

on the opposite sides of the line 3x-4y=8, then

Watch Video Solution

284. If the points (1,2) and (3, 4) are on the opposite side of the line 3x - 5y

+ a = 0, then :

Watch Video Solution

https://dl.doubtnut.com/l/_Jh8q1K1XUsVb
https://dl.doubtnut.com/l/_IoEI88Sk72Km
https://dl.doubtnut.com/l/_PDowkjTYqEbj


285. Line segment AB of fixed lengh c slides between coordinate axes such

that its ends A and B lie on the axes. If O is origin and rectangle OAPB is

completed, then show that the locus of the foot of the perpendicular

drawn from P to AB is 

Watch Video Solution

x + y = c .
2
3

2
3

2
3

286. All points lying inside the triangle formed by the points 

and  satisfy

Watch Video Solution

(1, 3), (5, 0)

( − 1, 2)

287. The equation to the straight line passing through the point

 and perpendicular to the line  is

Watch Video Solution

(acos3θ, asin3θ) xsecθ + ycosecθ = a

https://dl.doubtnut.com/l/_49QU3Ud8crOx
https://dl.doubtnut.com/l/_jzPVkWgonAmh
https://dl.doubtnut.com/l/_VKww0pnvmP0E


288. The equation of a straight line on which the length of perpendicular

from the origin is four units and the line makes an angle of 
with the

x-axis is
 (a) 
 (b) 
 (c) 
 (d) 

Watch Video Solution

1200

x√3 + y + 8 = 0 x√3 − y = 8 x√3 − y = 8

x − √3y + 8 = 0

289. The number of integral values of m for which the x-coordinate of the

point of intersection of the lines 3x+4y=9 and y=mx+1 is also an integer is

Watch Video Solution

290. If the equation of base of an equilateral triangle is 
and

the vertex is 
then the length of the sides of the triangle is

Watch Video Solution

2x − y = 1

( − 1, 2),

https://dl.doubtnut.com/l/_qZTTq8PnoRSB
https://dl.doubtnut.com/l/_tYXTmrjK6OLV
https://dl.doubtnut.com/l/_46m61tcCx77f


291. The equation of straight line passing through 
and making a

triangle with the axes of area 
 is
 (a) 
 (b)


(c) 
(d)none of these

Watch Video Solution

( − a, 0)

T 2Tx + a2y + 2aT = 0

2Tx − a2y + 2aT = 0 2Tx − a2y − 2aT = 0

292. The line 
whose equation is 
cuts the x-axis at 

is (4,2). The line 
 is rotated about 
through 
 in the anticlockwise

direction. The equation of the line 
in the new position is

Watch Video Solution

PQ x − y = 2 P , andQ

PQ P 450

PQ

293. If the equation of the locus of a point equidistant from the points

 and  is , then the value

of C is

Watch Video Solution

(a1, b1) (a2, b2) (a1 − a2)x + (b1 − b2)y + c = 0

https://dl.doubtnut.com/l/_C0OFD8CZB0u6
https://dl.doubtnut.com/l/_jqeN633HHaQO
https://dl.doubtnut.com/l/_Rl0dRe6OPLVr
https://dl.doubtnut.com/l/_hMOsydVg6MwK


294. If the extremities of the base of an isosceles triangle are the points


 and (0, a), and the equation of one of the side is 
 then

the area of the triangle is

Watch Video Solution

(2a, 0) x = 2a,

295. A triangle is formed by the lines 
 and 


If 
vary subject to the condition 
then

the locus of its circumcenter is
 (a) 
 (b) 


 (c) 
 (d) 

Watch Video Solution

x + y = 0, x − y = 0,

lx + my = 1. landm l2 + m2 = 1,

(x2 − y2)
2

= x2 + y2

(x2 + y2)
2

= (x2 − y2) (x2 + y2)
2

= 4x2y2

(x2 − y2)
2

= (x2 + y2)
2

296. The line 
meets the x- and y-axes at 
, respectively. A

triangle 
 is inscribed in triangle 
 being the origin, with

right angle at 
 and 
 lie, respectively, on 
 . If the area of

x + y = p AandB

APQ OAB, O

Q
.
P Q OBandAB

https://dl.doubtnut.com/l/_hMOsydVg6MwK
https://dl.doubtnut.com/l/_zTXwJORrWuVW
https://dl.doubtnut.com/l/_CWV6pZPA8Csy


triangle 
 is 
 of the are of triangle 
 the 
 is equal to

(a) (b)
 
(c) 
(d)

Watch Video Solution

APQ th
3

8
OAB,

AQ

BQ

2
2

3

1

3
3

297. 
 is a point on either of two lines 
 at a distance of 


units from their point of intersection. The coordinates of the foot of

perpendicular from 
on the bisector of the angle between them are
(a)


(b)
 
(c) 
(d) 

Watch Video Solution

A y + √3|x| = 2

4

√3

A

( − , 2)
2

√3
(0, 0) ( , 2)

2

√3
(0, 4)

298. A pair of perpendicular straight lines is drawn through the origin

forming with the line 
 an isosceles triangle right-angled at

the origin. The equation to the
 line pair is
 a. 
 b. 


 c. 
 d. 

Watch Video Solution

2x + 3y = 6

5x2 − 24xy − 5y2 = 0

5x2 − 26xy − 5y2 = 0 5x2 + 24xy − 5y2 = 0

5x2 + 26xy − 5y2 = 0

https://dl.doubtnut.com/l/_CWV6pZPA8Csy
https://dl.doubtnut.com/l/_bBkAtIxIT5nt
https://dl.doubtnut.com/l/_QEDPIO2tTFY0


299. If the vertices 
 of a triangle 
 are given by (2, 5) and 


, respectively, and the point 
moves along the line 
given by


 , then the locus of the centroid of triangle 
 is a

straight line parallel to PQ (b) QR (c)
RP (d) N

Watch Video Solution

PandQ PQR

(4, − 11) R N

9x + 7y + 4 = 0 PQR

300. Given 
and 
 is any line through it cutting the x-axis at 


 If 
 is perpendicular to 
 and meets the y-axis in 
 , then the

equation of the locus of midpoint 
 of 
 is
 (a) 
 (b) 


(c) 
(d) 

Watch Video Solution

A = (1, 1) AB

B. AC AB C

P BC x + y = 1

x + y = 2 x + y = 2xy 2x + 2y = 1

301. The straight lines  passes through which point?
 ,

where =0 (a) 
(b) 
(c) 
(d)
none of these

W t h Vid S l ti

4ax + 3by + c = 0

a + b + c (4, 3) ( , )
1

4

1

3
( , )

1

2

1

3

https://dl.doubtnut.com/l/_QEDPIO2tTFY0
https://dl.doubtnut.com/l/_Ue3zlNNkIAII
https://dl.doubtnut.com/l/_tn2VjHQWUxwV
https://dl.doubtnut.com/l/_0FkJ2tZYrhAC


Watch Video Solution

302. The line parallel to the x-axis and passing through the intersection of

the lines 
 and 
 where 


 , is
 (a)above the x-axis at a distance of 3/2 units from it

(b)above the x-axis at a distance of 2/3 units from it
(c)below the x-axis at

a distance of 3/2 units from it
 (d)below the x-axis at a distance of 2/3

units from it

Watch Video Solution

ax + 2by + 3b = 0 bx − 2y − 3a = 0

(a, b) ≠ (0, 0)

303. The lines :y-x =0 and : 2x+y =0 intersect the line  : y+2 =0 at P

and Q respectively. The bisector of the acute angle between  and 

intersects  at R 


Statement - 1 : The ratio PR : PQ equals  


Statement - 2 : In any triangle , bisector of an angle divides the triangle

into two similar triangle

Watch Video Solution

L1 L2 L3

L1 L2

L3

2√2: √5

https://dl.doubtnut.com/l/_0FkJ2tZYrhAC
https://dl.doubtnut.com/l/_ei5OpNwUkL8p
https://dl.doubtnut.com/l/_tJ3RCxecfXGt


304. If the lines ax+y+1=0, x+by+1=0, x+y+c=0, (a, b, c are distinct and not

equal to 1), are concurrent, then find the value of

Watch Video Solution

+ +
1

1 − a

1

1 − b

1

1 − c

305. Two sides of a rhombus ABCD are parallel to the lines y=x+2 and

y=7x+3. If the diagonal of the rhombus intersect at the point (1,2) and the

vertex. A is on the y-axis, then find the possible coodinates of A.

Watch Video Solution

306. Equation(s) of the straight line(s), inclined at  to the x-axis such

that the length of its (each of their) line segment(s) between the

coordinates axes is 10 units, is (are)

Watch Video Solution

30∘

https://dl.doubtnut.com/l/_tJ3RCxecfXGt
https://dl.doubtnut.com/l/_9tHncbILKIe0
https://dl.doubtnut.com/l/_xvzNuPuzJj8D
https://dl.doubtnut.com/l/_FFZCCzwwo35M
https://dl.doubtnut.com/l/_rKLIwtcWKLdf


307. If a pair of perpendicular straight lines drawn through the origin

forms an isosceles triangle with the line 
 , then area of the

triangle so formed is

Watch Video Solution

2x + 3y = 6

308. The sides of a rhombus are parallel to the lines x+y-1=0 and 7x-y-5=0.

It is given that the diagonals of the rhombus intersect at (1,3) and one

vertex, A of the rhombus lies on the line y=2x. Then the coordinates of

vertex A are

Watch Video Solution

309. The image of  on the line  is Q and the image of Q

on the line  is R find the mid-point of P and R

Watch Video Solution

P (a, b) y = − x

y = x

https://dl.doubtnut.com/l/_rKLIwtcWKLdf
https://dl.doubtnut.com/l/_dHJVhhYRS9ud
https://dl.doubtnut.com/l/_uJszLCtAdNxe
https://dl.doubtnut.com/l/_ZBW5niwY8fHf


310. Consider a  whose sides  are represented

by the straight lines 

respectively. The point P is . If P is orthocentre,then find the value of

(p+q) is

Watch Video Solution

ΔABC AB, BC and CA

2x + y = 0, x + py = q and x − y = 3

(2, 3)

311. Area of the triangle formed by the line  and the angle

bisectors of the pairs of straight lines 
 is
 (a)  sq units

(b)  sq units
(c)  sq units
(d)  sq units

Watch Video Solution

x + y = 3

x2 − y2 + 2y = 1 2

4 6 8

312. The sides of a triangle have the combined equation


 . The third side, which is variable, always

passes through the point 
 . Find the range of values of the

slope of the third line such that the
 origin is an interior point of the

triangle.

x2 − 3y2 − 2xy + 8y − 4 = 0

( − 5, − 1)

https://dl.doubtnut.com/l/_ZBW5niwY8fHf
https://dl.doubtnut.com/l/_xT1OUkCVJJTF
https://dl.doubtnut.com/l/_hIaOWCpcust6


Watch Video Solution

313. The equation of the lines passing through the point 
 and at a

distance 
 from the origin is
 (a) 
 =0
 (b) 


(c) 
(d) 

Watch Video Solution

(1, 0)

√3

2
√3x + y − √3

x + √3y − √3 = 0 √3x − y − √3 = 0 x − √3y − √3 = 0

314. The number of values of k for which the lines (k+1)x+8y=4k and kx+

(k+3)y = 3k-1 are coincident is ____.

Watch Video Solution

315. For all real values of a and b lines

 and mx+2y+6=0 are concurrent,

then m is equal to

Watch Video Solution

(2a + b)x + (a + 3b)y + (b − 3a) = 0

https://dl.doubtnut.com/l/_hIaOWCpcust6
https://dl.doubtnut.com/l/_jSjEhkYvUCAW
https://dl.doubtnut.com/l/_0Abg3su6ssG7
https://dl.doubtnut.com/l/_eR3NZZHX858P


316. The line  cuts the triangle with corners  and 

into two region. For the area of the two regions to be the same c must be

equal to (A)  (B) 3 (C)  (D) 5 or 15

Watch Video Solution

x = c (0, 0), (1, 1) (9, 1)

5

2
7
2

317. The absolute value of the sum of the abscissas of all the points on

the line x+y=4 that lie at a unit distance from the line 4x+3y-10=0 is____.

Watch Video Solution

318. The point 
 lies on the line 
The smallest value of

the quantity 
is 
then the value of 
 
is_______

Watch Video Solution

(x, y) 2x + 3y = 6.

√x2 + y2 m. √13 m

https://dl.doubtnut.com/l/_YU3lesD4x1Ir
https://dl.doubtnut.com/l/_FUctEXdwedP1
https://dl.doubtnut.com/l/_YtD8j635Czre


319. The equations of the perpendicular bisectors of the sides 

of triangle 
are 
and 
 , respectively. If the

point 
is 
, then find the equation of the line 

Watch Video Solution

ABandAC

ABC x − y + 5 = 0 x + 2y = 0

A (1, − 2) BC.

320. One of the diagonals of a square is the portion of the line


 intercepted between the axes. Then the extremities of the

other
 diagonal are:
 (a) 
 (b) 


(d) 

Watch Video Solution

+ = 2
x

2

y

3

(5, 5), ( − 1, 1) (0, 0), (4, 6) (0, 0), ( − 1, 1)

(5, 5), 4, 6)

321. Two sides of a triangle are along the coordinate axes and the

medians
 through the vertices (other than the origin) are mutually

perpendicular. The
number of such triangles is/are
(a) zero       (b)  two     

(c)  four    (d) infinite

Watch Video Solution

https://dl.doubtnut.com/l/_ThH6eYKQmsXK
https://dl.doubtnut.com/l/_xcVxXHUgkpJt
https://dl.doubtnut.com/l/_lXNvThutMoSM


Watch Video Solution

322. The graph of 
divides the plane into regions.

Then the area of the bounded region is
(a) 
 (b) 
 (c)


(d) 

Watch Video Solution

y2 + 2xy + 40|x| = 400

200sq
.
units 400sq

.
units

800sq
.
units 500sq

.
units

323. In a triangle 
 Point 

lies on line 
 where 
 The area of 
 , is such that 


 . The possible coordinates of 
 are (where [.] represents

greatest integer function).
 (a) 
 (b) 
 (c) 
 (d) 

Watch Video Solution

ABC, A = (α, β)B = (2, 3), andC = (1, 3). A

y = 2x + 3, α ∈ I. ABC,

[Δ] = 5 A

(2, 3) (5, 13) ( − 5, − 7)

( − 3, − 5)

324. If the straight lines

form a triangle2x + 3y − 1 = 0, x + 2y − 1 = 0, and ax + by − 1 = 0

https://dl.doubtnut.com/l/_lXNvThutMoSM
https://dl.doubtnut.com/l/_MJddr9qgW1KB
https://dl.doubtnut.com/l/_0WNGvpLGAMwl
https://dl.doubtnut.com/l/_OrwQnPsRsLT2


with the origin as orthocentre, then is given by

Watch Video Solution

(a, b)

325. Let 
be the origin. If 
are points such

that 
then


Watch Video Solution

O A(1, 0)andB(0, 1)andP (x, y)

xy > 0andx + y < 1, P

326. If the area of the rhombus enclosed by the lines 
is

2 sq. units, then,
a) l,m,n are in G.P
b) l,n,m are in G.P.
c) lm=n
d) ln=m

Watch Video Solution

lx ± my ± n = 0

327. In a triangle 
 , the bisectors of angles 
 lies along the

lines 
If 
is 
, then the equation of line 
is

Watch Video Solution

ABC BandC

x = yandy = 0. A (1, 2) BC

https://dl.doubtnut.com/l/_OrwQnPsRsLT2
https://dl.doubtnut.com/l/_3eZjSzeHeMp7
https://dl.doubtnut.com/l/_nbo8wOQCB3bE
https://dl.doubtnut.com/l/_kjSldhyAU1MJ
https://dl.doubtnut.com/l/_aEEQkyNNzXTF


328. If 
 where 
 then the family of

lines 
 passes though the fixed point given by
 (a)


(b) 
(c) 
(d) 

Watch Video Solution

− 2 = √ + √ ,
a

√bc

b

c

c

b
a, b, c > 0,

√ax + √by + √c = 0

(1, 1) (1, − 2) ( − 1, 2) ( − 1, 1)

329. 
 (where 
 are natural numbers) is any point in the

interior of the quadrilateral
 formed by the pair of lines 
 and the

lines 
 and 
 . The possible number of

positions of the point 
is.
(a) 7 (b) 5
(c) 4 (d)
6

Watch Video Solution

P (m, n) m, n

xy = 0

2x + y − 2 = 0 4x + 5y = 20

P

330. A diagonal of rhombus 
 is member of both the families of

lines  and 


 and rhombus is (3, 2). If the area of

the rhombus is 
 sq. units, then find the remaining vertices of the

rhombus.

ABCD

(x + y − 1) + λ(2x + 3y − 2) = 0

(x − y + 2) + λ(2x − 3y + 5) = 0

12√5

https://dl.doubtnut.com/l/_aEEQkyNNzXTF
https://dl.doubtnut.com/l/_ZaEzgwpA3mhD
https://dl.doubtnut.com/l/_MWphfEq0GZah


Watch Video Solution

331. A regular polygon has two of its consecutive diagonals as lines

 Point (1,c) is one of its vertices. Find the

equation of the sides of the polygon and also find the coordinates of the

vertices.

Watch Video Solution

√3x + y = √3  and 2y = √3.

332. Find the locus of the circumcenter of a triangle whose two sides are

along the coordinate axes and the third side passes through the point of

intersection of the lines ax+by+c=0 and lx+my+n=0.

Watch Video Solution

333. A line 
 is rotated about its point of

intersection with the y-axis in the
clockwise direction to make it 
 such

L1 = 3y − 2x − 6 = 0

L2

https://dl.doubtnut.com/l/_MWphfEq0GZah
https://dl.doubtnut.com/l/_PluH9VXUoTwT
https://dl.doubtnut.com/l/_yCMfhtimYBPU
https://dl.doubtnut.com/l/_75R47Rfmgvaf


that the are formed by 
 the x-axis, and line 
 is 
 if

its point of intersection with 
 lies below the x-axis. Find the

equation of 

Watch Video Solution

L1, L2 x = 5 sq
.
units

49
3

x = 5

L2.

334. Straight lines 
 and 
 where 

meet the x-axis at 
 respectively, and the y-axis at 

respectively. It is given that points 
and 
are concylic. Find

the locus of the intersection of lines 
and 
.

Watch Video Solution

y = mx + c1 y = mx + c2 m ∈ R+ ,

A1andA2, B1andB2,

A1, A2, B1, B2

A1B2 A2B1

335. Show that the reflection of the line ax+by+c=0 in the line x+y+1=0 is

the line bx+ay+(a+b-c)=0, where .

Watch Video Solution

a ≠ b

https://dl.doubtnut.com/l/_75R47Rfmgvaf
https://dl.doubtnut.com/l/_v8QSyGurg6ZC
https://dl.doubtnut.com/l/_GpQeRHIxMY6q


336. Two equal sides of an isosceles triangle are 7x-y+3=0 and x+y-3=0. Its

third side passes the point (1,-10). 

Determine the equation of the third side.

Watch Video Solution

337. The number of possible straight lines passing through (2,3) and

forming a triangle with the coordinate axes, whose area is 12sq. Units, is

Watch Video Solution

338. In a triangle 
 , if 
 is 
 and 


are the equations of an altitude and an angle bisector,

respectively,
 drawn from 
 , then the equation of 
 is
 (a) 


 (b) 
 (c) 
 (d) 

Watch Video Solution

ABC A (2, − 1), and7x − 10y + 1 = 0

3x − 2y + 5 = 0

B BC

a + y + 1 = 0 5x + y + 17 = 0 4x + 9y + 30 = 0

x − 5y − 7 = 0

https://dl.doubtnut.com/l/_vXpYvBJcXXrZ
https://dl.doubtnut.com/l/_T0zWDseSpkGk
https://dl.doubtnut.com/l/_706kDahJiPCr


339. The sides of a triangle are the straight line x+y=1, 7y=x, and

. Then which of the following is an interior point of the

triangle?

Watch Video Solution

√3y + x = 0

340. One of the diameters of the circle circumscribing the rectangle ABCD

is 4y = x + 7. If A and B are (-3, 4), (5, 4) then find the area of the rectangle.

Watch Video Solution

341. The coordinates of two consecutive vertices A and B of a regular

hexagon ABCDEF are (1,0) and (2,0), respectively. 

The equation of the diagonal CE is

Watch Video Solution

https://dl.doubtnut.com/l/_AACkUZqM67sC
https://dl.doubtnut.com/l/_EPTmh6CHH9He
https://dl.doubtnut.com/l/_GI8dq64OGJGC


342. 
is a point on the line 
and 
two points on the

line 
 such that triangle 
 is an equilateral triangle. The

length of the side of the triangle is

Watch Video Solution

P y + 2x = 1, QandR

3y + 6x = 6 PQR

343. The distance of origin from line

is

Watch Video Solution

(1 + √3)y + 1(1 − √3)x = 10  measured along the line y = √3x + k

344. In 
 , the coordinates of the vertex 
 are 
 , and lines 


 and 
 are the internal bisectors of angles 

.Then, the radius of the encircle of triangle 
 is
 (a) 
 (b) 


(c) 
(d) 

Watch Video Solution

ABC A (4, − 1)

x − y − 1 = 0 2x − y = 3

BandC ABC
4

√5
3

√5

6

√5

7

√5

https://dl.doubtnut.com/l/_V669jtV5az1U
https://dl.doubtnut.com/l/_ZA6yrUwxehUn
https://dl.doubtnut.com/l/_MeYtjihukWpb


345. If the equation of any two
diagonals of a regular pentagon belongs

to the family of lines 
 and their

lengths are sin 
 , then the locus of the center of circle circumscribing

the given
 pentagon (the triangles formed by these diagonals with the

sides of pentagon
have no side common) is


(a) 



(b) 



(c) 



(d) 

Watch Video Solution

(1 + 2λ)y − (2 + λ)x + 1 − λ = 0

360

x2 + y2 − 2x − 2y + 1 + sin2 720 = 0

x2 + y2 − 2x − 2y + cos2 720 = 0

x2 + y2 − 2x − 2y + 1 + cos2 720 = 0

x2 + y2 − 2x − 2y + sin2 720 = 0

346. If it is possible to draw a line which belongs to all the given family of

lines 

, then

Watch Video Solution

y − 2x + 1 + λ1(2y − x − 1) = 0, 3y − x − 6 + λ2(y − 3x + 6) = 0, ax +

https://dl.doubtnut.com/l/_MeYtjihukWpb
https://dl.doubtnut.com/l/_vzQUTVvxZCXC
https://dl.doubtnut.com/l/_zq3F3fOFJZCt


347. The locus of the image of the point 
 in the line 


 is 
 (a) 


 (b) 
 (c) 


(d) none of these

Watch Video Solution

(2, 3)

(x − 2y + 3) + λ(2x − 3y + 4) = 0 (λ ∈ R)

x2 + y2 − 3x − 4y − 4 = 0 2x2 + 3y2 + 2x + 4y − 7 = 0

x2 + y2 − 2x − 4y + 4 = 0

348. 
 is a variable triangle such that 
 is (1, 2), and 
 on the

line 
 is a variable). Then the locus of the orthocentre of 


is
 
(b) 
 
(d) 

Watch Video Solution

ABC A BandC

y = x + λ(λ

triangleABC x + y = 0 x − y = 0 x2 + y2 = 4 x + y = 3

349. If  be any point on a line, then the range of

values of  for which the point P lies between the parallel lines x+2y=1

and 2x+4y= 15 is

Watch Video Solution

P(1 + , 2 + )
α

√2

α

√2

α

https://dl.doubtnut.com/l/_zq3F3fOFJZCt
https://dl.doubtnut.com/l/_qghG3q7qe9vM
https://dl.doubtnut.com/l/_pOeQ0VmsZjQo
https://dl.doubtnut.com/l/_q9gbPSQaAMbV


Watch Video Solution

350. If the intercepts made by the line  by lines  and 

is less than 5, then the range of values of m is a.


 b. 
 c. 
 d. none of

these

Watch Video Solution

y = mx y = 2 y = 6

( − ∞, − ) ∪ ( , ∞)
4

3

4

3
( − , )

4

3

4

3
( − , )

3

4

4

3

351. If the extremities of the base of an isosceles triangle are the points


 and (0, a), and the equation of one of the side is 
 then

the area of the triangle is

Watch Video Solution

(2a, 0) x = 2a,

352. The coordinates of the foot of the perpendicular from the point


on the line 
are given by

Watch Video Solution

(2, 3) −y + 3x + 4 = 0

https://dl.doubtnut.com/l/_q9gbPSQaAMbV
https://dl.doubtnut.com/l/_Wi7cZ5wnFDrI
https://dl.doubtnut.com/l/_W10ZHezBBCgQ
https://dl.doubtnut.com/l/_LwzO2ADrabLM


353. The straight lines 
 , and 


 are concurrent, if the straight line 

passes through the point
 (a) 
 (b) 
 (c) 
 (d) none of

these

Watch Video Solution

x + 2y − 9 = 0, 3x + 5y − 5 = 0

ax + by − 1 = 0 35x − 22y + 1 = 0

(a, b) (b, a) ( − a, − b)

354. If lines 
 and 
 are

concurrent, and 
 is the curve denoting the locus of 
 , then the

least distance of 
from the origin is

Watch Video Solution

x + 2y − 1 = 0, ax + y + 3 = 0, bx − y + 2 = 0

S (a, b)

S

355. 
are two lines. If the reflection of 
and the reflection

of 
 on 
 coincide, then the angle between the lines is
 (a) 
 (b) 


(d) 

Watch Video Solution

L1andL2 L1onL2

L2 L1 300 600

450 900

https://dl.doubtnut.com/l/_LwzO2ADrabLM
https://dl.doubtnut.com/l/_MFULaBAbZWZC
https://dl.doubtnut.com/l/_XC6RDS0e59SQ
https://dl.doubtnut.com/l/_D6Ei43QY84K0


356. 
 are the variable
 points of the y-

axis such that 
lies below 
 . Lines 
 intersect

at 
The locus of 
is

Watch Video Solution

A ≡ ( − 4, 0), B ≡ (4, 0)
.

MandN

M NandMN = 4 AMandBN

P . P

357. If 
 where 

 then the straight line whose equation is 

 passes through point (a)  (b) 

(c)  (d) none of these

Watch Video Solution

sin(α + β)sin(α − β) = sinγ(2 sinβ + sinγ),

0 < α, β, γ < π,

x sinα + y sinβ − sinγ = 0 (1, 1) ( − 1, 1)

(1, − 1)

358. Let P be (5,3) and a point R on y=x and Q on the x-axis such that

PQ+OR+RP is minimum. Then the coordinates of Q are

Watch Video Solution

https://dl.doubtnut.com/l/_D6Ei43QY84K0
https://dl.doubtnut.com/l/_6erXODtKVORv
https://dl.doubtnut.com/l/_SDivwi7kt22G
https://dl.doubtnut.com/l/_vLaaaJH5Gyf3


359. Given A(0,0) and B(x,y) wih . Let the slope of

line AB be . If the are of triangle ABC can be

expresses as  then the largest possible value of  is

Watch Video Solution

x ∈ (0, 1)  and y > 0

m1, where0 < m2 < m1

(m1 − m2)f(x). f(x)

360. If the straight lines 
 and 


 are concurrent, then the family of lines 


 are nonzero) is concurrent at
 (a) 
 (b) 


(c) 
(d) 

Watch Video Solution

x + y − 2 − 0, 2x − y + 1 = 0

ax + by − c = 0

2ax + 3by + c = 0(a, b, c (2, 3)

( , )
1

2

1

3
( − , − )

1

6

5

9
( , − )

2

3
7
5

361. The equaiton of the lines through the point (2, 3) and making an

intercept of length 2 units between the lines

 are 
y + 2x = 3 and y + 2x = 5

https://dl.doubtnut.com/l/_vLaaaJH5Gyf3
https://dl.doubtnut.com/l/_EpIsYbVQw4Q7
https://dl.doubtnut.com/l/_APA9XiANp6jx
https://dl.doubtnut.com/l/_zNSqS9PY8p5I


(A)  (B)  (C) 

 (D) none of these

Watch Video Solution

x + 3 = 0, 3x + 4y = 12 y − 2 = (0, 4x − 3y = 6

x − 2 = 0, 3x + 4y = 18

362. A beam of light is sent along the line 
 , which after

refracting from the x-axis enters the opposite side by
 turning through


towards the normal at the point of incidence on the x-axis. Then the

equation of the refracted ray is
 (a) 
 (b)


 (c) 
 (d)

Watch Video Solution

x − y = 1

300

(2 − √3)x − y = 2 + √3

(2 + √3)x − y = 2 + √3 (2 − √3)x + y = (2 + √3)

y = (2 − √3)(x − 1)

363. Find  if  lies inside the triangle having sides along the lines

2x+3y=1, x+2y-3=0, 6y=5x-1.

Watch Video Solution

α (α, α2)

https://dl.doubtnut.com/l/_zNSqS9PY8p5I
https://dl.doubtnut.com/l/_IQmIcTU9xYhl
https://dl.doubtnut.com/l/_1zb63mJmzJDd
https://dl.doubtnut.com/l/_mc6I5MvVJUKA


364. A line through A(-5,-4) meets the lines x+3y+2=0, 2x+y+4=0 and x-y-

5=0 at the points B, C and D respectively. If

 find the equation of the line.

Watch Video Solution

( )
2

+ ( )
2

= ( )
2

15

AB

10

AC

6

AD

365. If 
 and 


then the curve 
 is
 (a)the same straight line 


(b)different straight line
(c)not a straight line
(d)none of these

Watch Video Solution

u = a1x + b1y + c1 = 0, v = a2x + b2y + c2 = 0,

= = ,
a1

a2

b1

b2

c1

c2
u + kv = 0

u

366. The point (2,1) , translated parallel to the line  by the

distance of 4 units. If this new position  is in the third quadrant, then

the coordinates of  are-

Watch Video Solution

x − y = 3

A'

A'

https://dl.doubtnut.com/l/_mc6I5MvVJUKA
https://dl.doubtnut.com/l/_kCgxGVcsT88v
https://dl.doubtnut.com/l/_M5bbNZglZ0cF


367. Let 
 be a triangle. Let 
 be the point 
 be the

perpendicular bisector of 
and 
be the angle bisector

of 
 . If the equation of 
 is given by 
 , then the

value of 
is


(a) (b) (c)
  (d) 

Watch Video Solution

ABC A (1, 2), y = x

AB, x − 2y + 1 = 0

∠C BC ax + by − 5 = 0

a + b

1 2 3 4

368. The area enclosed by 
is
(a) 3 sq. units
(b) 4 sq. units

12 sq. units
(d) 24 sq. units

Watch Video Solution

2|x| + 3|y| ≤ 6

369. The lines 
make equal intercepts on

the line 
 Then
 (a) 


 (b)


 (c)

y = m1x, y = m2xandy = m3x

x + y = 1.

2(1 + m1)(1 + m3) = (1 + m2)(2 + m1 + m3)

(1 + m1)(1 + m3) = (1 + m2)(1 + m1 + m3)

https://dl.doubtnut.com/l/_YmnREGO83JP5
https://dl.doubtnut.com/l/_XjJpMV0RPt8x
https://dl.doubtnut.com/l/_IveViRnDpTmV



 (d)

Watch Video Solution

(1 + m1)(1 + m2) = (1 + m3)(2 + m1 + m3)

2(1 + m1)(1 + m3) = (1 + m2)(1 + m1 + m3)

370. Find the condition in a,b such that the portion of the line ax+by=1,

intercepted between the lines ax+y=0 and x + by=0 sustains a right angle

at origin.

Watch Video Solution

371. One diagonal of a square is along the line 8x-15y=0 and one of its

vertex is (1,2). Then the equations of the sides of the square passing

through this vertex are

Watch Video Solution

https://dl.doubtnut.com/l/_IveViRnDpTmV
https://dl.doubtnut.com/l/_NpcgWZM1d8RI
https://dl.doubtnut.com/l/_TvqLoSS1riwU


372. The straight line 
 , where 
 will pass

through the first quadrant if
 (a) 
 (b) 
 (c)


or 
(d) 
or 

Watch Video Solution

ax + by + c = 0 abc ≠ 0,

ac > 0, bc > 0 ac > 0 or bc < 0

bc > 0 ac > 0 ac < 0 bc < 0

373. A square of side a lies above the x-axis and has one vertex at the

origin. This side passing through the origin makes an angle

 with the positive direction of the x-axis. The equation

of its diagonal not passing through the origin is

Watch Video Solution

α(0 < α < π/4)

374. If the sum of the distances of a point from two perpendicular lines in

a plane is 1, then its locus is

Watch Video Solution

https://dl.doubtnut.com/l/_7kBsyDvwjixX
https://dl.doubtnut.com/l/_Sg7KtJJOJAPf
https://dl.doubtnut.com/l/_8w1dwSeckrEJ
https://dl.doubtnut.com/l/_aZyeC6rOMakg


375. 
 is a variable triangle such that 
 is (1, 2), and 
 on the

line 
 is a variable). Then the locus of the orthocentre of 


is
 
(b) 
 
(d) 

Watch Video Solution

ABC A BandC

y = x + λ(λ

triangleABC x + y = 0 x − y = 0 x2 + y2 = 4 x + y = 3

376. Consider a  in which sides AB and AC are perpendicular to x-y-

4=0 and 2x-y-5=0, repectively. Vertex A is (-2, 3) and the circumcenter of

 is (3/2, 5/2). 

The equation of the line in List I is of the form ax+by+c=0, where

 Match it with the corresponding value of c in list II and then

choose the correct code. 

 

ΔABC

ΔABC

a, b, c ∈ I.

https://dl.doubtnut.com/l/_aZyeC6rOMakg
https://dl.doubtnut.com/l/_a5zM5DNBZxqh


Codes : 

Watch Video Solution

a b c d

r s p q

s r q p

q p s r

r p s q

377. Column
 I|Column II
 Two vertices
 of a triangle are


 . If the
 orthocentre is the origin, then the

coordinates of the third vertex are|p. 
 A point on
 the line 


 which lies at
 a unit distance from the line 
 is|q. 


 The
 orthocentre of the triangle formed by the lines 


is|r. 
 If 
are in 


then lines 
are
concurrent at|s. 

Watch Video Solution

(5, − 1)and( − 2, 3)

( − 4, − 7)

x + y = 4 4x + 3y = 10

( − 7, 11)

x + y − 1 = 0, x − y + 3 = 0, 2x + y = 7 (2, − 2) 2a, b, c

AP , ax + by = c ( − 1, 2)

378. Column
I|Column II

a.Four lines

https://dl.doubtnut.com/l/_a5zM5DNBZxqh
https://dl.doubtnut.com/l/_RzeC7WvTHiva
https://dl.doubtnut.com/l/_CRiFVzlNFmta


form a figure
which is|p. a quadrilateral which is neither a parallelogram

nor a trapezium

b.The points 
 in order are

the vertices of|q. a parallelogram

c.The lines 
 and 


form a figure
which is|r. a rectangle of area 10 sq. units

d.Four lines

form a figure
which is|s. a square

Watch Video Solution

x + 3y − 10 = 0, x + 3y − 20 = 0, 3x − y + 5 = 0, and3x − y − 5 = 0

A(1, 2), B(2, 3), C( − 1, − 5), andD( − 2, 4)

7x + 3y − 33 = 0, 3x − 7y + 19 = 0, 3x − 7y − 10,

7x + 3y − 4 = 0

4y − 3x − 7 = 0, 3y − 4x + 7 = 0, 4y − 3x − 21 = 0, 3y − 4x + 14 = 0

379. The lines

form an isosceles triangle whose vertical angle is

Watch Video Solution

(a + b)x + (a − b)y − 2ab = 0, (a − b)x + (a + b)y − 2ab = 0 and x + y

https://dl.doubtnut.com/l/_CRiFVzlNFmta
https://dl.doubtnut.com/l/_h6VR4hLJCc23
https://dl.doubtnut.com/l/_zbNqXPePjGM4


380. Each equation contains statements given in two columns which have

to be
matched.
Statements (a,b,c,d) in column I
 have to be matched with

Statements (p, q, r, s) in column II. If the
 correct match are


 and 
 , then the correctly bubbled 

matrix should be as follows:
Figure


Consider the lines represented by equation 

forming a triangle. Then match the following:


Column I|Column II

a. Orthocenter of triangle |p. 


b.Circumcenter|q. 


c.Centroid|r. 


d.Incenter|s. 

Watch Video Solution

a
→
p , a

→
s , b

→
q , b

→
r , c

→
p , c

→
q , d

→
s 4x4

(x2 + xy − x)(x − y) = 0,

( , )
1

6

1

2

(1(2 + 2√2), )
1

2

(0, )
1

2

( , )
1

2

1

2

381. The st. lines  interrect at a point 

. On these linepoints B and C are chosen so that .

Find the possible eqns of the line BC pass through the point 

W t h Vid S l ti

3x + 4y = 5 and 4x − 3y = 15

A(3, − 1) AB = AC

(1, 2)

https://dl.doubtnut.com/l/_zbNqXPePjGM4
https://dl.doubtnut.com/l/_2cjpfQJy98rY


Watch Video Solution

382. The area of the triangular region in first quadrant bounded on the

left
 by the line 
 and bounded below by the line 


is 
. Then the value of 
is________

Watch Video Solution

7x + 4y = 168,

5x + 3y = 121 A
3A

10

383. Find the area enclosed by the graph of

.

Watch Video Solution

x2y2 − 9x2 − 25y2 + 225 = 0

384. Line  intersect

at point P and make an angle  with each other Find the equation of a

line different from  which passes through P and makes the same angle 

.

Watch Video Solution

L1 ≡ ax + by + c = 0  and L2 ≡ lx + my + n = 0

θ

L2

θ  with L1

https://dl.doubtnut.com/l/_2cjpfQJy98rY
https://dl.doubtnut.com/l/_aVsqkpceUVpD
https://dl.doubtnut.com/l/_e6YpOujFMWML
https://dl.doubtnut.com/l/_20hXdvXtxpXQ


385. Let ABC be a triangle with AB=AC. If D is the midpoint of BC, E is the

foot of the perpendicular drawn from D to AC, and F is the midpoint of

DE, then prove that AF is perpendicular to BE.

Watch Video Solution

386. For , the distance between (1 ,1) and the point of

intersection of the lines ax + by + c = 0 and bx + ay +c = 0 is less than ,

then

Watch Video Solution

a > b > c > 0

2√2

387. A straight lines L through the point ( 3, 2) is inclined at an angle 

to the line  . If L also intersects the x-axis, then the equation

of L is

Watch Video Solution

60∘

√3x + y = 1

https://dl.doubtnut.com/l/_20hXdvXtxpXQ
https://dl.doubtnut.com/l/_AFxXRlXcMgbu
https://dl.doubtnut.com/l/_UnnXKfwRUaOo
https://dl.doubtnut.com/l/_RuaWaKI2ocBH


388. The locus of the orthocenter of the triangle formed by the line

(1+p)x-py+p(1+p) = 0, (1+q)x-qy+q(1+q) = 0 and y =0, whete  is

Watch Video Solution

p ≠ q,

389. The vertices of a triangle are 
 If

the
internal angle bisector of 
meets the
side 
in 
then find
the

length 

Watch Video Solution

A( − 1, − 7), B(5, 1)andC(1, 4).

∠B AC D,

AD.

390. Let the algebraic sum of the perpendicular distance from the points

(2,
 0), (0,2), and (1, 1) to a variable straight line be zero. Then the line

passes through a fixed point whose coordinates are___

Watch Video Solution

https://dl.doubtnut.com/l/_HXg0e1kRAlsR
https://dl.doubtnut.com/l/_EjecIkrT66h8
https://dl.doubtnut.com/l/_MmvANfn3lbIE


391. A straight line through the origin 'O' meets the parallel lines

 and  at points P and Q respectively. Then the

point 'O' divides the segment PQ in the ratio : (A) 1:2 (B) 3:2 (C) 2:1 D) 4:3

Watch Video Solution

4x + 2y = 9 2x + y = − 6

392. A straight line L with negative slope passes through the point (8,2)

and cuts the positive coordinate axes at points P and Q. As L varies, the

absolute minimum value of OP+OQ is (O is origin)

Watch Video Solution

393. A straight lines L through the origin meets the lines x+y=1 and x+y=3

at P and Q respectively. Through P and Q two straight lines  and  are

drawn, parallel to 2x-y=5 and 3x+y=5 respectively. Line  and  intersect

at R. Show that the locus of R as L varies is a straight line.

Watch Video Solution

L1 L2

L1 L2

https://dl.doubtnut.com/l/_cT96NsbHgFcI
https://dl.doubtnut.com/l/_cptARMLMLLNk
https://dl.doubtnut.com/l/_nCfZCIBfbjHt


394. A rectangle PQRS has its side PQ parallel to the line y= mx and

vertices P,Q and S on the lines y = a, x= b and x = -b respectively, Find the

locus of the vertex R.

Watch Video Solution

395. The area of the triangle formed by the intersection of a line parallel

to x-axis and passing through P (h, k) with the lines y = x and x + y = 2 is

. Find the locus of the point P.

Watch Video Solution

4h2

396. The lines ax + by + c = 0, where 3a + 2b + 4c= 0, are concurrent at the

point (a) 
(b) 
(c) 
(d) 

Watch Video Solution

( , )
1

2

3

4
(1, 3) (3, 1) ( , )

3

4

1

2

https://dl.doubtnut.com/l/_Xq8pLL69N5qL
https://dl.doubtnut.com/l/_QpSOhebCN9MX
https://dl.doubtnut.com/l/_7xjREIlHMJ8r


397. The area enclosed within the curve  is

Watch Video Solution

|x| + |y| = 1

398. The orthocentre of the triangle formed by the lines

and  lies in

Watch Video Solution

x + y = 1, 2x + 3y = 6 4x − y + 4 = 0

399. If  and 
 are in 
 then the straight line 
 will

always pass through a fixed point whose coordinates are (a) (1,2)
 (b) (1,-2)

(c) (2,3)
(d) (0,0)

Watch Video Solution

a, b c AP , ax + by + c = 0

400. Statement-l: If the diagonals of the quadrilateral formed by the lines

, are at right angles, then px + qy + r = 0, p' x + q' y + r' = 0

https://dl.doubtnut.com/l/_9EpZPavQfXgs
https://dl.doubtnut.com/l/_UxheBa3Hkrdu
https://dl.doubtnut.com/l/_PbIAuYWRmSVn
https://dl.doubtnut.com/l/_RbWUYteBk4dl


.


Statement-2: Diagonals of a rhombus are bisected and perpendicular to

each other.


Only conclusion I follows Only 

conclusion II follows 

Either I or II follows 

Neither I nor II follows

Watch Video Solution

p2 + q2 = p'
2 + q'2

401. Statement :Two different lines can be drawn passing through two

given points.

Watch Video Solution

402. Statement 1: The joint equation of lines 
 is 


i.e., 



Statement 2: The joint equation of lines 
and 
 is 


, wher 
are constant.

y = xandy = − x

y2 = − x2, x2 + y2 = 0

ax + by = 0 cx + dy = 0

(ax + by)(cx + dy) = 0 a, b, c, d

https://dl.doubtnut.com/l/_RbWUYteBk4dl
https://dl.doubtnut.com/l/_RxSZeTyKRu1v
https://dl.doubtnut.com/l/_PTiMu13Y60Zg


Watch Video Solution

403. Statement 1: If the sum of algebraic distances from
 point


 is zero on the line 
 then 


Statement 2: The centroid of the triangle is (1, 2)

Watch Video Solution

A(1, 1), B(2, 3), C(0, 2) ax + by + c = 0,

a + 3b + c = 0

404. Each question has four choice: a, b, c and d, out of which only one is

correct.
 Each question contains Statement 1 and Statement 2. Find the

correct answer.
 Both the Statements are true but Statement 2 is the

correct explanation
 of Statement 1.
 Both the Statement are True but

Statement 2 is not the correct
explanation of Statement 1.
Statement 1 is

True and Statement
 2 is False.
 Statement 1 is False and Statement 2 is

True
Statement 1: The lines 
are con-current at

the point 
 Statement 2: The lines 
 and 


intersect at the point 

Watch Video Solution

(a + b)x + (a − 2b)y = a

( , ).
2

3

1

3
x + y − 1 = 0

x − 2y = 0 ( , ).
2

3

1

3

https://dl.doubtnut.com/l/_PTiMu13Y60Zg
https://dl.doubtnut.com/l/_kofc9tCO2Xrr
https://dl.doubtnut.com/l/_jgVZEcOwR3hb


Watch Video Solution

405. Statement 1:If the point 
 is on the same side of the line 


as that of the origin, then 


Statement 2: The points 
 lie on the same or opposite

sides of the line 
 as 
 and 

have the same or opposite signs.

(a) Both the statements are true, and Statement-1 is the correct

explanation of Statement 2.

(b)Both the statements are true, and Statement-1 is not the correct

explanation of Statement 2.

(c) Statement 1 is true and Statement 2 is false.

(d) Statement 1 is false and Statement 2 is true.

Watch Video Solution

(2a − 5, a2)

x + y − 3 = 0 a ∈ (2, 4)

(x1, y1)and(x2, y2)

ax + by + c = 0, ax1 + by1 + c ax2 + by2 + c

406. Statement 1: Each point on the line 
 is equidistant

from the lines 


Statement 2: The locus of a point which is equidistant
 from two given

y − x + 12 = 0

4y + 3x − 12 = 0, 3y + 4x − 24 = 0

https://dl.doubtnut.com/l/_jgVZEcOwR3hb
https://dl.doubtnut.com/l/_xwVdlzE1Mvon
https://dl.doubtnut.com/l/_TVTQy30ZAJoX


lines is the angular bisector of the two lines.


(a) Statement 1 and Statement 2 are correct. Statement 2 is the correct

explanation for the Statement 1

(b) Statement 1 and Statement 2 are correct. Statement 2 is not the

correct explanation for the Statement 1

(c) Statement 1 is true but Statement 2 is false

(d) Statement 2 is true but Statement 1 is false

Watch Video Solution

407. If lines 

are
concurrent, then prove that 
are distinct

Watch Video Solution

px + qy + r = 0, qx + ry + p = 0 and rx + py + q = 0

p + q + r = 0(where, p, q, r

).

408. the diagonals of the parallelogram formed by the the lines

will be right angles if:

a1x + b1y + c1 = 0, a1x + b1y + c1' = 0, a2x + b2y + c1 = 0, a2x + b2y +

https://dl.doubtnut.com/l/_TVTQy30ZAJoX
https://dl.doubtnut.com/l/_ymjQJTigvJWq
https://dl.doubtnut.com/l/_Bs3n0sk7Qryj


Watch Video Solution

409. If the lines joining the origin and the point of intersection of curves


 and 
 are

mutually perpendicular, then prove that 

Watch Video Solution

ax2 + 2hxy + by2 + 2gx + 0 a1x
2 + 2h1xy + b1y

2 + 2g1x = 0

g(a1 + b1) = g1(a + b).

410. Find the angle between the lines joining the origin to the points of

intersection of the straight line  with the curve 

.

Watch Video Solution

y = 3x + 2

x2 + 2xy + 3y2 + 4x + 8y = 11 = 0

411. Prove that the straight lines joining the origin to the points of

intersection of the straight line  and the curve 

 are at right angle if .

W t h Vid S l ti

hx + ky = 2hk

(x − k)2 + (y − h)2 = c2 h2 + k2 = c2

https://dl.doubtnut.com/l/_Bs3n0sk7Qryj
https://dl.doubtnut.com/l/_eddZ2ygZktg3
https://dl.doubtnut.com/l/_YyNv5o6Rg6Lm
https://dl.doubtnut.com/l/_hEJtF8SArSu8


Watch Video Solution

412. If pairs of straight lines and 

 be such that each pair bisects the angle between

the other pair ,then

Watch Video Solution

x2 − 2pxy − y2 = 0

x2 − 2qxy − y2 = 0

413. Find the value of a for which the lines represented by

 are mutually perpendicular.

Watch Video Solution

ax2 + 5xy + 2y2 = 0

414. Find the acute angle between the pair of lines represented by

Watch Video Solution

x(cosα − ys ∈ α)2 = (x2 + y2)sin2 α

https://dl.doubtnut.com/l/_hEJtF8SArSu8
https://dl.doubtnut.com/l/_TC64XLIexWkZ
https://dl.doubtnut.com/l/_doMnVNJRLuLJ
https://dl.doubtnut.com/l/_rPL4l3Y5hfUt


415. If the angle between the lines represented by

 is  , then m is equal to

Watch Video Solution

2x2 + 5xy + 3y2 + 7x + 13y − 3 = 0 tan− 1(m)

416. If the pair of straight lines  is rotated about

the origin through  , then find its equation in the new position.

Watch Video Solution

ax2 + 2hxy + by2 = 0

90∘

417. The orthocenter of the triangle formed by the lines

 is

Watch Video Solution

xy = 0 and x + y = 1

418. The lines joining the origin to the point of intersection of

 are at right angles. Then3x2 + mxy − 4x + 1 = 0 and 2x + y − 1 = 0

https://dl.doubtnut.com/l/_1jr2zi7JOKus
https://dl.doubtnut.com/l/_R0qyjyupcT9k
https://dl.doubtnut.com/l/_2AHboJZhPjry
https://dl.doubtnut.com/l/_HUlkMcssnWrw


which of the following is a possible value of m?

Watch Video Solution

419. If the slope of one line is double the slope of another line and the

combined equation of the pair of lines is

, then find the ratio ab : .

Watch Video Solution

(x2 /a) + (2xy/h) + (y2 /b) = 0 h2

420. Find the combined equation of the pair of lines through the point

(1,0) and parallel to the lines respresented by .

Watch Video Solution

2x2 − xy − y2 = 0

421. The value k for which  is the equation of a pair

of straight lines is _________.

Watch Video Solution

4x2 + 8xy + ky2 = 9

https://dl.doubtnut.com/l/_HUlkMcssnWrw
https://dl.doubtnut.com/l/_RyIYTNMIZfHW
https://dl.doubtnut.com/l/_1Jo1ftXtJK3M
https://dl.doubtnut.com/l/_GPxwk56hwXLT


422. The two lines represented by  are

perpendicular to each other for

Watch Video Solution

3ax2 + 5xy + (a2 − 2)y2 = 0

423. If two lines represented by 

bisector of the angle between the other two, then the value of 
is

Watch Video Solution

x4 + x3y + cx2y2 − xy3 + y4 = 0

c

424. The straight lines represented by 

meet at (a)
 
(b) (c)
 
(d) none of these

Watch Video Solution

x2 + mxy − 2y2 + 3y − 1 = 0

( − , )
1

3

2

3
( − , − )

1

3

2

3
( , )

1

3

2

3

https://dl.doubtnut.com/l/_GPxwk56hwXLT
https://dl.doubtnut.com/l/_aXrglahQVozY
https://dl.doubtnut.com/l/_PFMN0UiuDWQM
https://dl.doubtnut.com/l/_af304DGJuzo2


425. The straight lines represented by the equation


 are equally inclined to the line
 (a) 


(b) x+2y=7
(c) 
(d) 

Watch Video Solution

135x2 − 136xy + 33y2 = 0

x − 2y = 7 x − 2y = 4 3x + 2y = 4

426. If one of the lines of  is a bisector of

the angle between the lines , then m is

Watch Video Solution

my2 + (1 − m2)xy − mx2 = 0

xy = 0

427. Statement
 1 : If 
 then one line of the pair of lines 


bisects the angle between the coordinate axes in

the positive quadrant.
Statement
 2 : If 
 is a factor of 


then 
.

Watch Video Solution

−2h = a + b,

ax2 + 2hxy + by2 = 0

ax + y(2h + a) = 0

ax2 + 2hxy + by2 = 0, b + 2h + a = 0

https://dl.doubtnut.com/l/_Oo30PP8CrkA9
https://dl.doubtnut.com/l/_83rVQhPOwn5O
https://dl.doubtnut.com/l/_8Hc7ro7xHG9B
https://dl.doubtnut.com/l/_VIC475ChPPwR


428. Show that all chords of the curve , which

subtend a right angle at the origin , pass through a fixed point. Find the

coordinates of the point .

Watch Video Solution

3x2 − y2 − 2x + 4y = 0

429. The distance between the lines 

is ____________.

Watch Video Solution

(x + 7y)2 + 4√7(x + 7y) − 42 = 0

430. , are three real

distinct lines forming a triangle is

Watch Video Solution

x + y = 7 and ax2 + 2hxy + ay2 = 0, (a ≠ 0)

431. If the slope of one of the lines represented by 

is the square of the other , then 

ax2 + 2hxy + by2 = 0

+ =
a + b

h

8h2

ab

https://dl.doubtnut.com/l/_VIC475ChPPwR
https://dl.doubtnut.com/l/_VslPZxKogPuf
https://dl.doubtnut.com/l/_6l0VrJ0J4255
https://dl.doubtnut.com/l/_lVwTTW53i68c


Watch Video Solution

432. 

Watch Video Solution

∫{ }dx
2 − 3 sinx

cos2 x

433. The sides of a triangle have the combined equation


 . The third side, which is variable, always

passes through the point 
 . Find the range of values of the

slope of the third line such that the
 origin is an interior point of the

triangle.

Watch Video Solution

x2 − 3y2 − 2xy + 8y − 4 = 0

( − 5, − 1)

434. Let PQR be a right - angled isosceles triangle , right angled at P(2,1). If

the equation of the line QR is , then the equation

representing the pair of lines PQ and PR is

h id l i

2x + y = 3

https://dl.doubtnut.com/l/_lVwTTW53i68c
https://dl.doubtnut.com/l/_x4BVcxJkVYGx
https://dl.doubtnut.com/l/_cKvnQHGhcwl6
https://dl.doubtnut.com/l/_Z0jm3chMK924


Watch Video Solution

435. The combined equation of three sides of a triangle is

 if (-2,a) is an interior point and (b,1) is an

exterior point of the triangle, then

Watch Video Solution

(x2 − y2)(2x + 3y − 6) = 0

436. Find the equation of the bisectors of the angles between the lines

joining the origin to the point of intersection of the straight line


with the curve 

Watch Video Solution

x − y = 2 5x2 + 11xy + 8y2 + 8x − 4y + 12 = 0

437. If  is the angle between the lines givne by the equation

, then find the equation of the line

passing through the point of intersection of these lines and making an

angles  with the positive x-axis.

θ

6x2 + 5xy − 4y2 + 7x + 13y − 3 = 0

θ

https://dl.doubtnut.com/l/_Z0jm3chMK924
https://dl.doubtnut.com/l/_IvPNbyqaGbJA
https://dl.doubtnut.com/l/_j4pDZlxNBF4C
https://dl.doubtnut.com/l/_4yPjtSEBLiup


Watch Video Solution

438. The dis tance of a point  from each of the two straight lines

which pass through the origin of coordinates is p. Find the combined

equation of these straigh lines .

Watch Video Solution

(x1, y1)

439. prove that the product of the perpendiculars drawn from the point

 to the pair of straight lines  is 

Watch Video Solution

(x1, y1) ax2 + 2hxy + by2 = 0

∣
∣
∣
∣
∣

∣
∣

∣

∣
∣

ax2
1 + 2hx1y1 + by2

1

√(a − b)2 + 4h2

440. Find the area enclosed by the graph of

.

Watch Video Solution

x2y2 − 9x2 − 25y2 + 225 = 0

https://dl.doubtnut.com/l/_4yPjtSEBLiup
https://dl.doubtnut.com/l/_Wk1COlok5bze
https://dl.doubtnut.com/l/_d7HfYgMNdgHX
https://dl.doubtnut.com/l/_cEIms6iKUdDK


441. Show that the pairs of straight lines 
 and 


are equally inclined

Watch Video Solution

2x2 + 6xy + y2 = 0

4x2 + 18xy + y2 = 0

442. The product of the perpendiculars from origin to the pair of lines


is

Watch Video Solution

ax2 + 2hxy + by2 + 2gx + 2fy + c = 0

443. Find the angle between the straight lines joining the origin to the

points of intersection of

.

Watch Video Solution

3x2 + 5xy − 3y2 + 2x + 3y = 0 and 3x − 2y = 1

https://dl.doubtnut.com/l/_cEIms6iKUdDK
https://dl.doubtnut.com/l/_SybCeRQT1Xca
https://dl.doubtnut.com/l/_iCgoQO1WryGP
https://dl.doubtnut.com/l/_05zGdjQwo5hx


444. Through a point (2,0)
on the x-axis, a straight line is drawn parallel

to the y-axis so as to
 meet the pair of straight lines


at 
and 
 If 
then (a)
 
 (b) 

(c)
 
(d) 

Watch Video Solution

A

ax2 + 2hxy + by2 = 0 B C. AB = BC, h2 = 4ab

8h2 = 9ab 9h2 = 8ab 4h2 = ab

445. Find the equation of two straigh lines whose combined equation is

.

Watch Video Solution

6x2 + 5xy − 4y2 + 7x + 13y − 3 = 0

446. Does equation  satisfies the

condition ? Does it represent a pair of

straight lines ?

Watch Video Solution

x2 + 2y2 − 2√3x − 4y + 5 = 0

abc + 2gh − af 2 − bg2 − ch2 = 0

https://dl.doubtnut.com/l/_V91vphHnFRb9
https://dl.doubtnut.com/l/_60PgDH5wy8uM
https://dl.doubtnut.com/l/_pKJlPFhEhJt0
https://dl.doubtnut.com/l/_dYHBMzJHee4N


447. Find the value of 

represent a pair of straight lines.

Watch Video Solution

λ if 2x2 + 7xy + 3y2 + 8x + 14y + λ = 0

448. Find the distance between the pair of parallel lines 

.

Watch Video Solution

x2 + 4xy + 4y2 + 3x + 6y − 4 = 0

449. If the pair of lines  intersect

on the y-axis , then prove that .

Watch Video Solution

ax2 + 2hxy + by2 + 2gx + 2fy + c = 0

2fgh = bg2 + ch2

450. Find the equation of two straigh lines whose combined equation is

.

Watch Video Solution

6x2 + 5xy − 4y2 + 7x + 13y − 3 = 0

https://dl.doubtnut.com/l/_dYHBMzJHee4N
https://dl.doubtnut.com/l/_RxiVNgX635Hu
https://dl.doubtnut.com/l/_rUk03sKCYMYv
https://dl.doubtnut.com/l/_nZRKB8Wz9M4p


451. If the component lines whose combined equation is

 make the angles  with x-axis , then find the

value of tan .

Watch Video Solution

px2 − qxy − y2 = 0 α and β

(α + β)

452. Find the joint equation of pair of lines which passes through origin

and are perpendicular to the lines represented by the equation

.

Watch Video Solution

y2 + 3xy − 6x + 5y − 14 = 0

453. If the sum of the slopes of the lines given by  is

four times their product , then find the value of c.

Watch Video Solution

x2 − 2cxy − 7y2 = 0

https://dl.doubtnut.com/l/_nZRKB8Wz9M4p
https://dl.doubtnut.com/l/_HYOG9i6qA7dp
https://dl.doubtnut.com/l/_jAhs5S1yKvro
https://dl.doubtnut.com/l/_15NEpwqCAJMI
https://dl.doubtnut.com/l/_ZEiNwCjzKSUt


454. The distance between the two lines represented by the   sides of
an

equilateral triangle
a right-angled triangle
an isosceles triangle

Watch Video Solution

455. If the gradient of one of the lines  twice that of

the other , then sum of possible values of h ____________.

Watch Video Solution

x2 + hxy + 2y2 = 0

456. If one of the lines of  is a bisector of

the angle between the lines , then m is

Watch Video Solution

my2 + (1 − m2)xy − mx2 = 0

xy = 0

457. Two pairs of straight lines have the equations

. One line will be

common among them if

y2 + xy − 12x2 = 0 and ax2 + 2hxy + by2 = 0

https://dl.doubtnut.com/l/_ZEiNwCjzKSUt
https://dl.doubtnut.com/l/_7z0DsyLKUgOB
https://dl.doubtnut.com/l/_BhpvJATiiJ31
https://dl.doubtnut.com/l/_r10mhb4A08dN


Watch Video Solution

458. If the equation of the pair of straight lines passing through the

point
 
 , one making an angle 
with the positive direction of the x-

axis and the other making the same
angle with the positive direction of

the y-axis, is 
then the

value of 
is

Watch Video Solution

(1, 1) θ

x2 − (a + 2)xy + y2 + a(x + y − 1) = 0, a ≠ 2,

sin 2θ

459. If one of the lines given by the equation 

coincide with one of those given by  and the other

lines represented by them are perpendicular , then value of is

Watch Video Solution

2x2 + pxy + 3y2 = 0

2x2 + qxy − 3y2 = 0

p + q

460. If 
represents the equation of the straight lines

through the origin which
 make an angle 
 with the straight line

x2 + 2hxy + y2 = 0

α

https://dl.doubtnut.com/l/_r10mhb4A08dN
https://dl.doubtnut.com/l/_yddU4AKlSZOq
https://dl.doubtnut.com/l/_ysjel4sGMhHd
https://dl.doubtnut.com/l/_aKdwzfIhNUCC


 then,
 (a) 
 (b) 
 
 (c) 


(d) 


Watch Video Solution

y + x = 0 sec2α = h cosα = √
(1 + h)

(2h)
2 sinα

= √
(1 + h)

h
cot α = √

(1 + h)

(h − 1)

461. The equation to a pair of opposite sides of a parallelogram are


 and 
 . The equations to its diagonals
 are



 (b) 


(d)


Watch Video Solution

x2 − 5x + 6 = 0 y2 + 5 = 0

x + 4y = 13, y = 4x − 7 4x + y = 13, 4y = x − 7

4x + y = 13, y = 4x − 7 y − 4x = 13, y + 4x − 7

462. The equation 
 and 


represent

Watch Video Solution

a2x2 + 2h(a + b)xy + b2y2 = 0

ax2 + 2hxy + by2 = 0

https://dl.doubtnut.com/l/_aKdwzfIhNUCC
https://dl.doubtnut.com/l/_MHm3PgfzGd6B
https://dl.doubtnut.com/l/_4UIBlJRgQD5t


463. The equation 
represents
(a)three real straight

lines
 (b)lines in which two of them are perpendicular to each other

(c)lines in which two of them are coincident
(d)none of these

Watch Video Solution

x3 + x2y − xy2 = y3

464. The image of the pair of lines represented by 

by the line mirror 
 is
 a. 
 b. 


 c. 
 d. 

Watch Video Solution

ax2 + 2hxy + by2 = 0

y = 0 ax2 − 2hxy − by2 = 0

bx2 − 2hxy + ay2 = 0 x2 + 2hxy + ay2 = 0

ax2 − 2hxy + by2 = 0

465. The combined equation of the lines 
 is 

and that of the lines 
 is 
 . If the angle

between 
and 
 is 
then the angle between 
will be


(b) 
 
(d) 

Watch Video Solution

l1andl2 2x2 + 6xy + y2 = 0

m1andm2 4x2 + 18xy + y2 = 0

l1 m2 α l2andm1 − α
π

2

2α + α
π

4
α

https://dl.doubtnut.com/l/_FbUQkETF5C9I
https://dl.doubtnut.com/l/_vASO8pazFUOA
https://dl.doubtnut.com/l/_U3g0ItrGEmY2


466. If the equatoin  represents a

pair of lines whose slopes are m and , then value (s) of a is /are

Watch Video Solution

ax2 − 6xy + y2 + 2bx + 2cy + d = 0

m2

467. The equations of a line which is parallel to the line common to the

pair of lines given by 

and the sum of whose intercepts on the axes is 7, is :

Watch Video Solution

6x2 − xy − 12y2 = 0 and 15x2 + 14xy − 8y2 = 0

468. If the sum of the slopes of the lines given by  is

four times their product , then find the value of c.

Watch Video Solution

x2 − 2cxy − 7y2 = 0

https://dl.doubtnut.com/l/_U3g0ItrGEmY2
https://dl.doubtnut.com/l/_KQc1iZUI1ddU
https://dl.doubtnut.com/l/_yRwy1SISk0t6
https://dl.doubtnut.com/l/_H2AyKbh9QL6r


469. Area of the triangle formed by the line 
 and angle

bisectors
of the pair of straight lines 
is


a. 


b. 


c. 


d. 

Watch Video Solution

x + y = 3

x2 − y2 + 2y = 1

2sq
.
units

4sq
.
units

6sq
.
units

8sq
.
units

470. The equation 
 represents a pair of

straight lines and a circle
a pair of straight lines and a parabola
a set of

four straight lines forming a square
none of these

Watch Video Solution

x2y2 − 9y2 + 6x2y + 54y = 0

471. The straight lines represented by

form a

Watch Video Solution

(y − mx)2 = a2(1 + m2) and (y − nx)2 = a2(1 + n2)

https://dl.doubtnut.com/l/_ZiMyc8bMRUkf
https://dl.doubtnut.com/l/_YJmLI0GzZchL
https://dl.doubtnut.com/l/_iZhmfSOPvwEc


472. If the pairs of lines 

have exactly one line in common then the joint equation of the other two

lines is given by

Watch Video Solution

x2 + 2xy + ay2 = 0 and ax2 + 2xy + y2 = 0

473. The condition that one of the straight lines given by the equation


 may coincide with one of those given by the

equation 
is


Watch Video Solution

ax2 + 2hxy + by2 = 0

a ′x2 + 2h ′xy + b ′y2 = 0

(ab ′ − a ′ b)
2

= 4(ha ′ − h ′a)(bh ′ − b ′h)

(ab ′ − a ′ b)
2

= (ha ′ − h ′a)(bh ′ − b ′h)

(ha ′ − h ′a)
2

= 4(ab ′ − a ′ b)(bh ′ − b ′h)

(bh ′ − b ′h)
2

= 4(ab ′ − a ′ b)(ha ′ − h ′a)

https://dl.doubtnut.com/l/_iZhmfSOPvwEc
https://dl.doubtnut.com/l/_lPFIZyxYgJt9
https://dl.doubtnut.com/l/_InceFH4BKH0y


474. If the lines represented by the equation 

are rotated about the point 
 through an angle of 
 , one in

clockwise direction and the other in anticlockwise direction,
 so that they

become perpendicular, then the equation of the pair of lines in
 the new

position is

Watch Video Solution

3y2 − x2 + 2√3x − 3 = 0

(√3, 0) 150

475. A point moves so that the distance between the foot of

perpendiculars from it on the lines  is a constant

2d . Show that the equation to locus is

.

Watch Video Solution

ax2 + 2hxy + by2 = 0

(x2 + y2)(h2 − ab) = d2{(a − b)2 + 4h2}

476. The angle between the pair of lines whose equation is

is

Watch Video Solution

4x2 + 10xy + my2 + 5x + 10y = 0

https://dl.doubtnut.com/l/_4bma0USqGOtY
https://dl.doubtnut.com/l/_EtMvcRTvKXhJ
https://dl.doubtnut.com/l/_xwJWhk46JiWC


Watch Video Solution

477. Find the point of intersection of the pair of straight lines

represented by the equation .

Watch Video Solution

6x2 + 5xy − 21y2 + 13x + 38y − 5 = 0

478. Find the angle between the lines represented by

.

Watch Video Solution

x2 + 2xy secθ + y2 = 0

479. If the pair of lines  is rotated about the

origin by  in the anticlockwise sense , then find the equation of the

pair of lines in the new position.

Watch Video Solution

√3x2 − 4xy + √3y2 = 0

π/6

https://dl.doubtnut.com/l/_xwJWhk46JiWC
https://dl.doubtnut.com/l/_N2jn7vEur6eq
https://dl.doubtnut.com/l/_TrEV1Z53S765
https://dl.doubtnut.com/l/_Kuyu7X8AHiya


480. If the equation  represents a pair of real and

distinct lines , then find the values of k.

Watch Video Solution

2x2 + kxy + 2y2 = 0

481. If the equation 
 represents

two parallel straight lines, then prove that .

Watch Video Solution

x2 + (λ + μ)xy + λuy2 + x + μy = 0

λ = μ

482. If one of the lines of the pair 
 bisects the

angle between the positive direction of the axes. Then find the
 relation

for  and .

Watch Video Solution

ax2 + 2hxy + by2 = 0

a, b h

https://dl.doubtnut.com/l/_iCoxu11IUS3U
https://dl.doubtnut.com/l/_z2vzraRAee48
https://dl.doubtnut.com/l/_mJhveSFKQeCv


483. Prove that the equation 

respresents a pair of straight lines .Find the coordinates of their point of

intersection and also the angle between them.

Watch Video Solution

2x2 + 5xy + 3y2 + 6x + 7y + 4 = 0

484. A line 
 passing through the point (2, 1) intersects the curve


at the point 
 . If the lines joining the

origin and the points 
 are such that the coordinate axes are the

bisectors between them, then
find the equation of line 

Watch Video Solution

L

4x2 + y2 − x + 4y − 2 = 0 AandB

A, B

L.

485. Show that straight lines


 form with the line 


an equilateral triangle of area 
.

Watch Video Solution

(A2 − 3B2)x2 + 8ABxy + (B2 − 3A2)y2 = 0

Ax + By + C = 0
C 2

√3(A2 + B2)

https://dl.doubtnut.com/l/_SoASpTHOEXBF
https://dl.doubtnut.com/l/_LqMMbWhuyaw2
https://dl.doubtnut.com/l/_GbgiFPmp3TYm


486. If one of the lines denoted by the line pair 

bisects the angle between the coordinate axes, then prove that

Watch Video Solution

ax2 + 2hxy + by2 = 0

(a + b)
2

= 4h2

https://dl.doubtnut.com/l/_GbgiFPmp3TYm
https://dl.doubtnut.com/l/_9m2Bd4HWLBAk

